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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2015

(Revised)
CORPORATE ACCOUNTING

Paper 11 /
s Hours [Max. Marks : 80

Attempt all questions according to internal choice.
Question No. 13 is Compulsory.
Provide working notes, wherever necessary.

Section A - (Marks : 10 x 2 = 20)
Answer any ten of the following:
a What are the two types of goodwill ?
When do you suggest the SAP and WAP methods for valuation of goodwill ?

What is normal rate of returns ?

o

(ar]

d- Write the formula used to compute expected rate of dividend.
e Mention any two objectives of amalgamation of companies.
£+ Name the two methods of accounting for amalgamation stated in AS.14.

g’ What are the two types of liquidations of companies?

—— e — —

h: Who are secured creditors ?
1» Write the definition of subsidiary company given in Section 4 of the Companies Act.
~J» What is a fully owned subsidiary company ?
k' How do you show bills for collection in bank accounts ?
' What is NPA?
Section B - (Marks : 3 x 5 = 15)
Answer any three of the following.

Snanti Ltd., proposed to purchase the business of Shantanu. It agreed to value the goodwill
21 3 vears purchase of the past five years profit under simple average profit method. Profits/
-osses for the five years are: ‘

Rs.
2010 .. 20,000
2011 ... 30,000
2012 ... — 10,000 (Loss)
2013 .. 20,000
2014 ... 40,000
==z the value of goodwill? [P.T.O.
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3. From the following information compute the intrinsic value of all classes of equity shares :

Rs.
(a) Total assets ... 8,00,000
(b) External liabilities .. 2,00,000
. (c) 10,000 15% preference shares of Rs. 10 each ... 1,00,000

(d) 20,000 equity shares of Rs. 10 each fully paid up ... 2,00,000
(e) 10,000 equity shares of Rs. 10 each Rs. 5 paid up ... 50,000

(f) 10,000 equity shares of Rs. 10 each Rs. 6 paid up ... 60,000

4. Honda Ltd decided to sell its business to Apsara Ltd., on which date its balance sheet was as

under :

Particulars Note. No. Rs.

I. Equity and liabilities :
Shareholders Fund : Share capital — 3,00,000
Reserves and Surplus — 1,00,000
Non-current liabilities : 6% Debentures — 50,000
Current Liabilities : Trade payables — 20,000
Total m

I1. Assets :

Non-current assets :

Tangible fixed assets 2,00,000
Intangible fixed assets (Goodwill) 50,000
Current Assets : Inventories 1,40,000
Trade Receivables 30,000
Cash and Cash equivalent 50,000
Total ' m

Apsara Ltd., agreed to takeover the liabilities and assets excluding cash and goodwill at 1
less than the book values and pay Rs. 80,000 for goodwill. The purchase consideration was ts .
be discharged by the issue of 30,000 equity shares of Rs. 10 each at par and the balance iy
cash. Compute the purchase consideration.
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(1}

Issued capital :
20,000 10% preference shares of Rs. 16 each fully paid
(Dividend for one yeaf is in arrears)
. 10,000 equity shares of Rs. 10 each fully paid
10,000 equity shares of Rs. 10 each Rs. 6 called
Calls in arrears on 1,000 shares at Rs. 2 per share

Calls in advance Rs. 12,000
Cash in hand Rs. 3,00,000

The Anna Ltd's position, which is under liquidation is as under:

Preference shares carry preferential right as to capital and dividend.

Prepare liquidator's final statement of account.

Assume that calls in arrears are duly collected.

o)

Following data as on 31-3-2014 is given to you:
Equity share capital :
5000 equity shares of Rs. 100 each ...

Reserves and surplus :

General Reserve 1,00,000
Surplus 1,50,000
Current Liabilities
Fixed Assets
Current Assets

Discount on issue of shares

Calculate cost of control and minority interest.

7. Write the pro-forma of schedule 14 of profit and loss account of banking companies.

Rs.
5,00,000

2,50,000
1,00,000
4,50,000
4,00,000

50,000

Akka Ltd., purchased 80% of equity shares at Rs. 150 per share of Amma Ltd as on 1-4-2013.

[P.T.O.
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Section C (Marks : 3 x 15 = 45)

Question 13 is Compulsory.
Answer any two of the remaining.

8. Following particulars are available in respect of Shan Ltd., : —
(a) Profits of 3 years: 2011 - 12 Rs. 45,000
2012 - 13 Rs. 55,000
- 2013 - 14 Rs. 60,000
(b) Average capital employed in business Rs. 4,00,000.
(¢) NRRis 8%.
(d) The profits included non-recurring income on an average basis of Rs. 10,000.
(e) Present value of annuity of Rs. 1 over 5 vears at 10% is Rs. 3.78.
Compute the value of goodwill under the following methods:
(i) Four years purchase of super profit.
(ii) Annuity method, and
(iii) Capitalisation of super profit.

9. Durga Ltd., gives the following information:

Year ended Capital Employed | Profit earned | Dividend
31-03-2012 4,00,000 64,000 12%
31-03-2013 64,00,000 12,80,000 15%
31-03-2014 80,00,000 17,60,000 18%

Compute the value of shares of Rs. 10 on:

a Dividend basis :

= Return on capital emploved basis. Market expectation in each case is 12%.
ATT. v the appropriate weights for computing weighted averages in both the above cases.

atement of assets and liabilities of Hava Ltd., and Nava Ltd., as at

Parniculars Note. No. Amount

I. Equity and liabilities : Hava Rs. Naya Rs.
Shareholders Fund : Share capital
(Equity shares of Rs. 10 each) — 4,00,000 7,50,000

Reserves and Surplus - 4,95,000 (-)1,60,000

Non-current liabilities : 10% Debentures — — 2,00,000
Current Liabilities : Trade payables — 68,000 90,000
Total 9,63,000 8,380,000 |




-
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IT. Assets:

Non-current assets : —

Tangible fixed assets — 6,40,000 7.20.000

Intangible fixed assets — 1,20,000 —

Current Assets : Inventories — 59,000 69.000
Trade Receivables — 85,500 49.000
Cash and Cash equivalent — 58,500 42.000

Total 9,63,000 8.80,000

New company Havanava Ltd is formed with an authorised capital of Rs. 30,00,000 divided
into shares of Rs. 10 each.

Following are the terms of amalgamation:
Assets and liabilities of both the companies are taken over at book values.
ia) Calculate purchase considerations.

{b) Prepare amalgamated balance sheet.

Following data is taken from the books of Shanbo Bank Ltd., as on 31-3-2014 :

Rs.
80,000 shares of Rs. 10 each 8,00,000
Statutory Reserves 1,40,000
Profit and Loss Account (Balance on 31.3.2013)... 60,000
Current deposits 4,60,000
S.B. Account 1,00,000
F.D.Account 3,20,000
Borrowings from other Banks 3,00,000
Employee Security Deposits 90,000
Cash in hand 2,80,000
Balance with RBI 2,00,000
Balance with Banks 3,60,000
Money at call and short notice 80,000
Investment in gold coins 3,80,000
Investment in shares of companies 24,000
Investment in government bonds 56,000
Bills purchased and discounted 1,60,000

(P.T.O
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Rs.

Cash credit and overdraft 6,20,000
Premises (Original cost Rs. 2,00,000) 1,52,000
Furniture (Original cost Rs. 1,00,000) 68,000

Inter office adjustments (Dr.) 1,00,000

. Interest accrued on investments 20,000
Net profit for the year 2,00,000

Adjustments :
1. Provide for rebate on bills discounted Rs. 10,000.
2. Write off depreciation on building Rs. 12,000 and furniture Rs. 8,000.
3. Current deposits include Rs. 20,000 debit balance representing overdraft.
4. Bills for collection Rs. 1,40,000 and acceptances and endorsements Rs. 1,00,000.

Prepare the balance sheet in the prescribed form and schedules.

12. From the following information prepare the consolidated balance sheet as at 31-3-2014:
Balance sheets as at 31-3-2014 :

Particulars Note. No. Parent Ltd. Child Ltd.

I. Equity and liabilities: Rs. Rs.
Shareholders Fund: Share capital 1 3,00,000 2,00,000
Reserves and Surplus 2 1,15,000 95,000

Non-current liabilities : (12% Debentures) ... — 1,00,000 -
Current Liabilities : Trade payables 3 75,000 87,500
I Tawal 5,90,000 3,82,500
Non-current assets: Tangible fixed assets ... 4 1,50,000 1,25,000
Intangible fixed assets (Goodwill) — 50,000 1,00,000
Non-Current Investments 5 2,05,000 30,000
Current Assets : Inventories (Stock) — 75,000 37,500
Trade Receivables 6 1,00,000 70,000
Cash and Cash equivalent - 10,000 20,000

Total 5,90,000 3,82,500
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Notes :1. Share capital Parent Ltd. Child Ltd.
Share of Rs. 10 each 3,00,000 2,00,000
2. Reserves and Surplus :
General Reserve 30,000 20,000
Surplus on 1-4-2013 35,000 30,000
Surplus for the year 50,000 45,000
Total 1,15,000 95,000
3. Trade payables : Creditors 60,000 87,500
Bills payables 15,000 —
Total 75,000 87,500
4. Tangible fixed assets : Building 1,00,000 75,000
Machinery 50,000 50,000
Total 1,650,000 1,25,000
5. Non-current investments :
15,000 shares in Child Ltd. 1,80,000 —
Government Bonds 25,000 30,000
Total 2,05,000 30,000
6. Trade receivables : Debtors 1,00,000 60,000
Bills Receivables — 10,000
Total 1,00,000 70,000

Adjustments :

1. Parent Ltd. acquired the shares in Child Ltd. on 1-8-2013.

General reserve of Child Ltd., on 1-4-2013 was Rs. 17,000.

3. Bills receivable of Child Ltd., were all accepted by Parent Ltd.

Debtors of Child Ltd. included the amount of Rs. 10,000 for supply of goods to Parent Ltd.

The stock of Parent Ltd., included the goods purchased from Child Ltd., worth Rs. 5,000.
The goods were supplied by Child Ltd., at cost plus 25%.

[}V

?‘-

o

[P.T.O.
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13. Case Study (Compulsory) :
Following details relate to Swastic Ltd., which went into voluntary liquidation:
Share Capital :
1,000 Preference shares of Rs. 100 each, fully paid
20,000 'A' equity shares of Rs. 10 each, fully paid
. 4,000 'B' equity shares of Rs. 10 each, Rs. 8 paid up.

Liabilities :
Rs.
Secured creditors 46,000
(Securities sold by creditors for Rs. 55,000)
Unsecured creditors . 3,714,777
Preferential creditors 8,000
Debentures ... 1,00,000

Liquidator realised the assets of Rs. 3,08,000.
Liquidation expenses amounted to 3,170.

A call of Rs. 2 per share was made on 'B' equity shares.
The call money was duly collected.

Liquidator was entitled to commission as under:

3% on the assets sold by him;

3% on surplus received from secured creditors;

2% on payment to Preferential creditors;

2% on payment to pure unsecured creditors;

ARl

2% on call amount received.
(a) Prepare liquidator's final statement of account;
(b) Comment on the commission paid to the liquidator.

(¢) What will be his commission at 3% if all the assets, including the one giver -
secured creditors is realised by him ?
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2015

(Revised)
LAW AND PRACTICE OF BANKING

Hours]

Answer all questions.
Answer written with the help of Case Laws and Sections
will be give due weightage.

Section A - (Marks : 10 x 2 = 20)
wer any ten of the following :
Who is a customer?
What is Compound Interest?
What is Bearer cheque?
Why the cheque is crossed?
What is Garnishee order?
What is overdraft?
What is Promissory Note?
What is Right of set-off?
Whnat is Internet Banking?
What is Credit Card?
zxpand KYC and ATM.
‘A nat do you understand by unsecured loan?

Section B - (Marks: 3 x 5 =15)
Answer any three of the following.

= zuish between General crossing and Special crossing.

=1 zre the conditions to be satisfied for the operation of Garnishee order?

[Max. Marks : 80

[P.T.O.
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11.

12.

13.
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Distinguish between Loan and Overdraft,
Explain the three principles of Employment of Bank Funds.

Under what circumstances Banker can disclose the information relating to customer account?

What are the advantages of ATM?

Section C - (Marks: 3 x 15 = 45)

Answer any three questions.
Question No.13 js compulsory.

What is Endorsement? Explain the different kinds of Endorsement.
Explain the conditions to be satisfied for Honouring the Customer’s Cheque.

Who is a Paying Banker? What are the precautions to be taken by the Banker while making
payment of Customer’s Cheque?

Define Bill of Exchange. Explain the different kinds of Bill of Exchange.
Explain the significance of E-Banking.
Case Study (Compulsory) :
As a Manager of the Bank, How do you deal in the following situations?
a) A cheque dated 1-1-2014 presented for payment on 2-5-2014.
b) A cheque dated 1-4-2015 is presented for payment on 30-3-2015.

c) A cheque presented for payment is written in pencil.
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2015

(Revised)

INDIAN FINANCIAL SYSTEM

Answer all questions according to internal choice.

Question No. 13 is compulsory.

Section A - (Marks : 10 x 2 = 20)

~.2wer any ten of the following questions :

State the components of Indian Financial System:.
What do you mean by Sweat Equity Shares?
Mention two objectives of financial system.
What is Treasury Bill?

Expand OTCEI & NABARD.

What is green shoe option?

Who is stag?

Name the depositories in India.

“What do you mean by Demat Account?

Name the regulators of financial system in India.
“%no appoints the Chairman of SEBI?
““nat do you mean by Initial Public Offer?

Section B - (Marks: 3 x 5 = 15)
Answer any three of the following questions.

233 the role of financial system in the Country’s economic growth.
©=.z.7 he functions of financial market.

=+:72% the objectives of Listing of Securities.

[Max. Marks : 80

[P.T.O.
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State the functions of SIDBI.

Describe the purpos

Discuss

the objectives of Capital Market.

e of Securities & Exchange Board of India (SEBD)

Section C — (Marks : 3 x 15 = 45)
Question No. 13 is compulsory.

Answer any two of the following questions.

Explain the functions of financial system.

Explain the features of Stock Exchange.

Discuss

the major development in Indian Financial System after 1990.

Explain the functions of Merchant Banks.

Describe the functions of S

ecurities & Exchange Board of India (SEBD).

Tip Top Co. Ltd. issued 5,00,000 equity shares of Rs. 100 each at a price band of Rs. 127
Company has received application for 6,00,000 shares and it has allotted 5,00,000 skz
at Rs. 130 per share.

Rs. 140.

a)
b)

c)

Whether the company has issued the shares at disc

What is the method of issue?

State the floor price, cap price & cut off price.

ount or premium?
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2015

(Revised)
INTERNATIONAL ECONOMICS

Domoars] [Max. Marks : !

All subquestions should be answered continuously at one space.
All sections should be answered in the same answer book.
Diagrams should be drawn wherever necessary.

Section A — (Marks : 10 x 2 = 20)

~=zwer the ten of the following in 2-3 sentences each:

What is International Trade ?

18

Who has propounded comparative cost theory ?

Write the meaning of invisible trade.

= What is Balance of Payments ?

= State the meaning of foreign exchange rate.
What is flexible exchange rate ?

:z  Give the meaning of import substitution.

What do you mean by gains from trade ?

Expand SAARC.

When was IBRD established ?

= What is Foreign Direct Investment ?

Name the currencies of Japan and UK.

Section B — (Marks:3 x5 =15)

Answer any three of the following.

=7 .z= 1ne importance of International Trade.

+Tm.zisn between internal and international trade.

“~r2:: tne merits and demerits of flexible exchange rate.

=Tz 2" the objectives of World Trade Organisation.

[P.T.O.
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10.
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Anayse the causes for adverse balance of payments.

Find out the absolute cost advantage of countries from the following information : —

Product UK India
Cloth 300 units or {150 units or
Rubber 150 units 300 units

This relates to production by one unit of labour.

Section C — (Marks : 3 x 15 = 45)

Answer any three of the following including Question No. 18 which is compulsory.

Critically examine comparative cost theory of International Trade.

Evaluate purchasing power parity theory of foreign exchange.

Explain the objectives, functions and achievements of World Bank.

Explain the objectives, functions and achievements of SAARC.

Examine the importance, policies and regulation of Foreign Direct Investment in India.
Case Let :

Following are the items of exports and imports of Bangladesh:

Sl. No. Particulars Rs. in Crores
1 Export of jute products .. 30,000
2 Import of electricals ... 45,000
3 Export of IT services 12,500
4 Import of BT services 6,750
5 Gifts received 7,500
6 Gifts offered 6,000
7 Capital receipts 10,000
8 Capital payments 2,250

(i) What is the difference between visible trade and invisible trade ?

(ii) Prepare the current account and capital account of balance of payment fror
above data.

(iii) State the balance of payment position of Bangladesh.
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2015
(Revised)

COMMERCIAL ARITHMETIC
T—< > Hours] [Max. Marks : =0

A A

Mathematical Tables will be supplied on request.
. Simple calculator is allowed.

Section A (Marks : 10 x 2 = 20)
Anszwer the ten of the following:
_. Define true discount.
2. How banker's gain is related to T.D. and B.D. ?
Define Income tax.
2 A man'sincome is Rs. 2,50,000. Find tax at 20%, if Rs. 1,00,000 is exempted from tax.
=  Define Goodwill in partnership.
= Distribute Rs. 12,000 among three partners x, y and z in the ratio 1: 2 : 3.
Define Insurance.
% Name any two types of life insurance policies.
> A person holds Rs. 10,000 in 4% at 120. Find his annual income.
_.  Name any two types of preference shares.
_. Define Insolvency.
22 If Assets = Rs. 1,500, Liabilities = Rs. 2,000. Calculate dividend.
Section B (Marks : 3 x 5 = 15)
—  xz-=swer any three of the following:

2> A bill of Rs. 15,000 drawn on 27th May at 6 months. It is discounted on 7th Ju.» a
=% p.a. How much does the holder receive?

A man's income decreases by Rs. 45,000, but on account of increase in the rate of incom
-ax from 15% to 20% he pays the same amount of tax as before. Find his income in >t
+ears, if Rs. 1,00,000 of the income is exempted from tax.
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Goods worth Rs. 1,25,000 are insured for 40% of their value. In a fire 40% of the proper
is damaged fully. Find the amount claimable.,

A, B and C are partners with capitals of Rs. 3,515 and Rs. 2405 provided by A ang
respectively. If out of total profit of Rs 2450, B receives Rs. 850, find B's capital a

shares of profit received by A and C.
A can do a piece of work in 8 days. B can do it in 12 days and C in 16 days. In how ma
days will they do it together?

The assets of a bankrupt are Rs. 15,000 and liabilities amount to Rs. 35,000 includin
p.c. of Rs. 8000. If the legal expenses amount of Rs. 3,000, how much dividend in 1

rupee can be declared?

Section C (Marks : 3 x 15 = 45)

Answer any three of the following:

19.

20.

21.

(a) A bill of Rs. 2,550 drawn for 3 months hence. It was discount of 8% p.a. in a ba
Calculate true discount, banker's gain.
(8 mas
(b) A pays tax at 10% on his income. B pays 7% on his income of Rs. 2,80,000. If a
paying tax, A in Rs. 20,100 poorer than B, find A's income.
(7 ma
(a) Two trains 145 m and 155 m long are running on parallel rails at 35 km/hr an:
km/hr. In what time will they pass each other, if they are running in oppos:
directions ?
‘ (8 me
(b) A merchant insures his property for 80% of its value and pays a premium of R
and 80 ps%. If 80% of the property is damaged to the extent of 80% of its value,
the compensation.
(7 m:
(a) A and B are partners with capitals of Rs. 3,000 and Rs. 2,000 respectively. O
total profits 5% interest is provided on capitals, 20% of the remainder should be all
to B as management remuneration. The balance is divided in proportion to capi’
in one year each partner received as much as the other, find the total profit.
(8 m
(b) In a partnership between A and B, A contributes Rs. 6,000 and B Rs. 5,000
agreed that after providing interest at 5% on capital, the remaining profits shoi
divided in proportion to capital. If in one year, A's total gain from the firm excee
by Rs. 360, find total profit and share of each.
(7Tn
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A person holds Rs. 24,000 partly in 6% at 90 and partly in 8% at 120. He sells both the
stocks at par. If he realised the amount he invested, find his investment in each kind.

(8 marks
The preference share capital of a company is twice ordinary share capital and three times
debenture issue. Preference share carry a dividend of 6% and defentures bear 5% interest.
If total profit amounted to Rs. 34,250 and holders of ordinary shares received dividend of
7.5% find each class of share capital and of debentures.

(7 marks
The assets of a bankrupt are equal to his liabilities. But his property worth Rs. 3.000
fetches only 60% and only 80% could be recovered from a person who was to pay Rs. 4,000
to the bankrupt. The legal expenses amount to Rs. 150. If he pays a dividend of 75 ps/Re.
find the amount of his liabilities.

(8 marks:
A bankrupt's assets equal to Rs. 9,000. The dividend is reduced from 90 ps to 75 ps by the
admission of a P.C. What is the amount of the P.C. ?

(7 marks
1 man, 2 women and 3 boys can do a piece of work together in 30 days, and 3 men. 2
women and 1 boy can do it together in 20 days. In how many days will 12 men, 12 women
and 12 boys do it together ?

(8 marks
A tank is filled by 2 taps in 20 hours and 15 hours respectively. It is emptied by 3rd tap in
10 hours. If all the three taps are opened at once, in what time will it be full ?
(7 marss

[3 x 15 = 45 marss

'
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(@) iy OTRTSRDT Sanid oRE IeRmMUER (o) AR, $BT Te. 3,000 T £
60% B2, AR0ZT [023 TR 4,000 ERTLIETAT 2u2) FFOWOT Qo9 a3ReTRT 80% B[R, 4
59,080MT S0UDFTIFD TR, 150 STOZE. @S 2,080 SRFTIN 75 FFCD0E BuBOT* 3

PRI BRBOZON BRSPS FoOBIELEOWO. (8 m:
(b) %) DTRPSRETT YN TR, 9,000 V. TBFAVT LXBRWFN00T BRTEOT® 90 T
75 AR 99EIRAT. 37 T Reg (P.C.) 82 F0RmOLEC0. (7 mq
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- L0030 BURTI) 1 Moz, 2 Fea Fons 3 BT 88 30 OINLE IRoTT. et TeTIRC 3

Memd, 2 Beag mone 1 Bowdn Xed 20 HINGE, Bnwozs. BE3 12 Ko, 12 Eesg, =s
12 TR T T OINFY, & OIS IeEOeT? ' (8 marks:

2O és%oﬁi@dm SERPOT 20 Notingd) Tons 15 NoEN$E) B0000TIT). TSt Sokeie)

375 £QEI0T 10 MotiN¥), w0m BREWRW. Torde SYRYE) IR aey e ax:
TT0DTY, BI0LWBOT.

(7 marks)
[3 x 15 = 45 marks]
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2015
(Revised)
COMPUTER APPLICATIONS - 11

> Hours] [Max. Marks : 80

Answer all the Sections subject to internal choice.
Question No. 12 is Compulsory.

Section A — (Marks : 10 x 2 = 20)
- :wzr any ten questions from the following :
: MS-Excel 2007 consists of rows and columns in each worksheet.
"Wnat is electronic spreadsheet?
N zme the two methods to edit the cell in electronic spreadsheet.
1 Wrize the procedure to insert the symbols in MS-Excel.
: W=zt are the options available in Insert Tab — Page group.
"W—-c the use of Name Box in MS-Excel 2007 spreadsheet.
£ Wzt is Goal seek?
+  Ziv: the syntax and example of COUNT ( ) and COUNTIF ( ) functions.
Zxrznd FICO and HR in SAP.

b

& =z7 iz account payable?
§ _w=ore Information System.
"W r:e the meaning of Decision-making.

Section B — (Marks : 3 x 5 =15)
Answer any three questions from the following.

= == zpriications of MS-Excel 2007.

w-:t 2z Cnzart? Explain the components of chart with neat diagram.
% -:1 2@ v: mean by protect worksheet? Write the steps to the protect worksheet.
Ti=.: = "=z smeps to freeze and unfreeze the columns and rows in MS-Excel 2007 worksheet

=z7 2 SAP Explain services provided by SAP.

¥ ——: :z =22 .= Decision Support System.

[P.T.O.
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Section C - (Marks : 3 x 15 = 45)
Answer any three questions, including
Question No.12 which is Compulsory.

Explain any three groups of Home Tab in MS-Excel 2007.

Explain options available in Page set up group of page layout in MS-Excel 2007.
Explain the different modules of SAP.

What is MIS? Explain the components of MIS.

Case Study :

Kalyanam Event Management, Dharwad, as a event management company specializec
taking the entire responsibility of organizing marriage functions on contract basis for tl
clients. They offer an attractive discount policy which is based on the contract price agr
between the company and its clients. The details of which are given below:

Marriage contract price Discount Rate
Less than 50,000/- Nil

50,001 to 1,00,000/- 5%

1,00,001 to 1,50,000/- 10%

1,50,001 to 2,00,000/ 15%

More than 2,00,000/- 20%

In the month of April, the company has organized five marriages, which are inciden
came under different discount options i.e., one each from the above options.

Prepare the calculation sheet for the following format and write the formula for to calc
discount allowed and net amount earned during the month and display in neat format.

Kalyanam Event Management
Dharwad

Sl. No. Party Name Quoted Price Discount Amount payabl

Write the procedure to prepare the above bill format i.e., alignment, table styles, for
etc.
Write purpose and syntax of any five functions in each category from the following :
(a) Text functions.
(b) Logical functions.

(¢) Statistical functions.
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2016

(Revised)
CORPORATE ACCOUNTING

Paper 1I

Time : 3 Hours] ’ : _ [Max. Marks : 80 .

Attempt all sections according to internal choice.
Simple and non-programmable calculators are allowed.
Question No. 13 is Compulsory.

Section A - (Marks : 10 x 2 = 20)
1. Answer any ten of the following :

(a) Mention any two features of Goodwill.
(b) What is average capital employed ?
-(¢c) Name any two factors that affect the value of shares.
(d) State two basic methods for valuation of shares of the companies.
(e) State the types of amalgamation as per AS-14.
(f) What are inter-company owings? -
(g) Name any two types of liquidation.
(h) Expand NCLT and ACE.
(i) What is cost of control?
(j) - What is holding company?
(k) What is statutory reserve?
(1) What is performing Assets of a Banking company ?
Section B - (Marks : 3 x 5 = 15)
Answer any three of the following.
2. The Profits of ABC partnership firm for the past 5 years was as follows:

2010 ... Rs. 90,000
2011 ... Rs. 60,000
2012 ... Rs. 72,000
2013 ... Rs. 66,000
2014 ... Rs. 72,000

It was decided to value the Goodwill of the firm at 3 years purchase of the average profits of

the past five years under simple average profits method. Find the value of Goodwill.

[P.T.O.
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3. From the following partlculars relating to Mahesh Co. Ltd., calculate the value of each

of equity shares:
Tangible and intangible assets ... 15,00,000
Outside Liabilitiées : 3,37,000

30,000 equity shéres of Rs. 10 each fully paid,
45,000 equity shares of Rs. 10 each Rs. 7.50 paid up,
12% preference shares of Rs. 100 each.

4. ALtd. and B Ltd. have decided to amalgamate and form C Ltd. When their financial

was as under:

A Litd. B Ltd.
Assets ‘... Rs.8,00,000 Rs.6,00,000
. Liabilities ... Rs.2,00,000 Rs.1,50,000

Equity share capltal of Rs. 10 each ... Rs. 6,00,000 Rs. 4,50,000

Calculate purchase consideration and goodwill or Capital Reserve.

|
C Ltd. agreed to issue 60,000 shares of Rs. 10 each at 10% premium to A Ltd. a:d
40,000 shares of Rs. 10 each at 10% premium to B Ltd.

5. The cash left with liquidator after realising all assets and after paying all liabilites
before any call and return of capital is Rs. 2,32,000. The issued share cap1ta1 of compaz

composed of:

20,000 6% preference shares of Rs 10 each fully paid up
20,000 Equity shares of Rs. 10 each fully paid up

20,000 Equity shares of Rs. 10 each Rs. 8 paid up
20,000 Equity shares of Rs. 5 each Rs. 3 paid up

You are required to prepare liquidator’s final statement of account making necessars +
One year’s preference share dividend was in arrears and it has priority over equity ¢

capital.
6. Calculate minority interest and goodwill from the following: —

Particulars H.Com.

Share capital of Rs. 10 each (H.Co. acquired

4/5 of shares of S.Co. on 1.4.2012) ... 10,00,000
Reserves on 1.4.2012 40,000
Profit on 1.4.2012 _ .. 20,000
Total Reserve on 31.3.2013 60,000
Total profits on 31.3.2013 ' 30,000

\ S. Com.

5,00,000
40,000
30,000

1,00,000
80,000

7. Write the proforma of Schedule 16 of Profit and Loss Account of banking companies.

’
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Section C —(Marks : 3 x 15 = 45)

Question No.13 is Compulsory.
Answer any two of the remaining.

8. The follwoing particulars are available in respect of the business carried on by Shri Avinash.

(a) Profit earned for the following three years:

2012 ... Rs. 22,000
. 2013 ... Rs. 29,000
2014 ... Rs. 24,000

(b) _ Normal rate of return is 10%.
(c) Average capital employed in the business Rs. 1,50,000.

(d) Present value of an annuity of Re. 1 over 5 years at 10% is Rs. 3.78.

(e) The profit included non-recurring profits on an average basis of Rs. 3,000.

You are required to calculatelthe value of Goodwill of the business on the basis of:

(i) Five year’s purchase of super profits.

(ii) Annuity method of valuation. -

(iii) Capitalisation of super profits.

9. Following is the Balance Sheet of Ravi and Co. Ltd. as on 31.3.2012 :

Particulars Note %
[. Equity and Liabilities:
Share holders funds: o
Share capital (10,000 shares of Z 10 each) — 1,00,000
Reserves and surplus . 1 93,000
Current liabilities .
Trade payable (creditors) : — - 40,000
Others (Workmen’s savings account) — 20,000
Total ' 2,53,000
II. Assets
Non-current Assets
Tangible fixed assets ‘ 2 1,40,000
Intangible fixed assets (Trademark) ‘ — 20,000
Current Assets: ‘ . '
Inventories (stock) — 20,000
Trade receivable (Debtors) — 48,000
Cash and cash equivalents (Bank) - 25,000
Total , - 2,53,000

[P.T.O.
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Note : '
1) Reserve and Surplus :
General Reserve ~ ... 50,000
Less Preliminary expenses ... 7,000 43,000
Taxation reserves 20,000
Profit and Loss Account (surplus) ... 30,000
| Total e 93,000
) 2) Tangible fixed assets :
Land and Buildings 70,000
Plant and Machinery 70,000
Total e 1,40,000

the independent values. ¥ 5,000 of the Sundry debtors are to be taken as bad.

The profit of the company were:

2008-09 T 50,000, 2009-10 % 60,000 and 2010-11 ¥ 70,000. It is the practice of th

company to transfer 20% of the profit to general reserve.

Ignoring taxation find out the value of shares of the company on their intrinsic or

asset - basis and also on yield basis.

‘Shares of similar companies are quoted in the stock exchange yield 12% on their mark

value. Goodwill of the company may be taken as X 1,00,000.
; 10. X Co. Ltd. and Y Co. Ltd. decided to amalgamate their business and form a new Z Co. Lt
? with an authorised capital of ¥ 15,00,000 divided into shares of 10 each. Following are t
i Balance Sheets as on 31-3-2014 :

|

\

) ————

The machinery is worth ¥ 60,000 and Land and Buildings are worth ¥ 1,30,000 as valued 5

Particulars |Note | X Ltd. Y Ltd.
1. Equity and Liabilities:
Shareholders funds: _ A
Share capital (shares of ¥ 10 each) : — 2,00,000 | 3,75,000
Reserves and Surplus 1 2,47,500 | (-) 80,000
Non-current Liabilities, 6% Debentures — — 1,00,00¢
Current Liabilities Creditors — 34,000 45,000
Total — 4,81,500 4,40,000
II. Assets
Non-current Assets: :
Tangible fixed assets (Machinery) — 3,20,000 3,60,00G
Intangible fixed assets (Goodwill) - L — 60,000 —
Current Assets: Inventories (stock) — 29,500 34,500
Trade receivable (Debtors) — 42,750 24,500
Cash (bank) ' 29.250 21,004
4.81.500 4,40.000
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Notes:
X Ltd. Y Ltd.
Reserve and Surplus: :
Reserve Fund 72,500 —
Profit and Loss Account ... 1,75,000 (-) 80,000
Total . 2,47,500 (-) 80,000

The following are the terms of agreement :

(1) X Co. Ltd. assets and liabilities are to be taken over at book values except goodwill,
plant and machinery and stock which are to be valued at Rs. 90,000, Rs. 3,00,000 and
Rs. 32,000 respectively. '

(2) Y Co. Ltd. assets except cash at bank are valued at 10% less than book values and the
liabilities are taken over at book figures.

Calculate purchase consideration and prepare amalgamated Balance Sheet of 7, Co. Ltd. Apply
purchase method. '

11. Suresh Ltd. went into voluntary liquidation on 31.3.2014 when its share capital stood as
below: _ '
8% Preference shares of ¥ 100 each fully paid ¥ 1,00,000
Equity shares 10,000 of ¥ 10 each fully paid ¥ 1,00,000
Equity shares 20,000 of ¥ 10 each 8 paid up X 1,60,000
Equity shares 30,000 of ¥ 10 each Z 5 paid up ¥ 1,50,000
The liquidator realised Z 1,50,000 from assets. Expenses of liquidation came upto
% 1,600. He had to pay 45,000 to unsecured creditors which included 2 5,000 preferential.

Liquidator’s remuneration was fixed at 3% on assets realised and 2% on amount distributed
to unsecured creditors.

As per Articles of Association preference shareholders have priority in respect of dividend
arrears (of one year) and preference share capital. o '

Prepare liquidator’s final statement of account.

12. ‘H’ Company Ltd. acquired 75% of the equity shares in ‘S’ Company Ltd. on 1.7.2013. The
following were the Balance Sheets of the two companies as on 31-3-2014 :
Particulars - Note H Ltd. S Ltd.
I.  Equity and Liabilities:
Shareholders funds:

Share capital 1 5,00,000 4,00,000
Reserves and Surplus , 2 4,20,000 2,90,000
Current liabilities : Trade payables ... 3 1,00,000 1,00,000
Total 10,20,000 7,90,000

[P.T.O.
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Particulars | Note H Ltd. S Ltd.
II. Assets: ’

Non-current Assets
Tangible fixed assets .| 4| 360000 |- 450000
Intangible fixed assets (Goodwill) - 60,000 90,000
Noncurrent investments s 5 4,00,000 —
Current Assets : v ‘ |

~ Inventories (stock) = 80,000 1,10,000
Trade receivables - _ -6 80,000 80,000
Cash and cash equivalents e — 40,000 60,000

10,20,000 | 7,90,000

: H. Ltd. S. Ltd.
Notes : 1. Share capital:

Equity shares of ¥ 10 each ... 5,00,000 4,00,000

2. Reserves and Surplus : ' '
General Reserve : ... 3,00,000 2,00,000
Profit and Loss Account ... 120,000 90,000
. Total © ... 420,000  2,90,000
3. Trade payables: Sundry Creditors e 60,000 75,000
Bills payable 40,000 25,000
Total ... 1,00,000 1,00,000
4: Tangible fixed assets: Land and Buildings ... 1,50,000 2,00,000
Machinery ... 2,10,000 2,50,000
Total ... 3,60,000 4,50,000

5. Non-current investments:
30,000 shares in ‘S’ Litd. ... 4,00,000 —

6. Trade Receivables: Sundry Debtors , 60,000 50,000
‘ Bills Receivables .. 20,000 30,000
Total ... 80,000 80,000

Additionai Information:

1. On 1.4.2013 the general reserve and Profit and Loss Account of ;S’ Ltd. showed cre
balances of T 1,20,000 and ¥ 60,000 respectively. ‘

9. Creditors of ‘S’ Ltd. included ¥ 30,000 for goods supplied by H Ltd. Sales price being ¢
+ 25% profit. All the goods were in stock of S Litd. on 31.3.2014.

3. Bills payable of ‘S’ Ltd. included bills drawn by H Ltd. ¥ 15,000.
Prepare consolidated Balance Sheet of H Co. Ltd. and its subsidiary ‘S’ Co. Ltd. as on 31.3.2(

}
i
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13. Case Study (Compulsory):
The following information is extracted from Dhanraj Bank Ltd. as on 31.3.2015:
1. Share Capital : :
1,00,000 Equity shares of T 10 each ... 10,00,000
50,000 12% preference shares of ¥ 10 each . 5,00,000

15,00,000
Subscribed and paid up capital:

50,000 equity shares of T 10 each, % 8‘paid up 4,00,000
50,000 12% pref. shares of T 10 each fully paid up 5,00,000

, , 9,00,000

2. Profit and Loss Account balance on 1.4.2014 ... .10,00,000

Current Year’s Profit : 8,00,000

18,00,000
3. Cash credit, overdrafts, and term loans divided in to the followihg assets;

(a) Standard assets (advanée to agriculture

and SM.E.) © ... 15,00,000
(b) Sub-standard assets (secured) ... 5,00,000
(c) Doubtful debts (50 % secured) : ‘
Upto 1 year : _ 2,00,000
1 to 3 years 1,00,000
More than 3 years 1,00,000  4,00,000
(d) Loss Assets 1,00,000

25,00,000

An inexperienced accountant of Dhanraj Bank Ltd. presented the final accounts to the Reserve
Bank of India. On scrutiny of the final accounts, the professional auditors of the Reserve
Bank of India raised the objections to the following items:

(i) The provision for bad and doubtful debts on a flat rate of 3% on total advance of
< 25,00,000. . '

'ii) The statutory reserve was created at 10% of the total Profit and Loss Account balance
of ¥ 18,00,000. :

'iii)  The proposed dividend of 15% was calculated on the authorised share capital of equity
and preference shares.

- [P.T.O.
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The professional auditors of the Reserve Bank of India stated the following provisions for bad
and doubtful debts as per the guidelines of the Reserve Bank of India.

(a) Standard assets (advance to agriculture and S.M.E.) ... 0.25%
(b) Substandard assets (secured) ... 15.00%
(¢) Doubtful debts:
(i) Unsecured" ... 100.00%
(i1) Sec’ured: '
Upto 1 year ... 25.00%
1 to 3 years ... 40.00%
Above 3 years : ... 100.00%
(d) Loss Assets" . 100.00%
Questions :

(1) Calculate the provision for bad and doubtful debts as per the above mentioned R.B.L
guidelines. '

(2) Calculate the statutory reserve.
(3) Calculate the proposed dividend.

(4) Give reasons as to why the professional auditor might have raised the objections to
the items mentioned above. '
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2016
LAW AND PRACTICE OF BANKING

T:me : 3 Hours] [Max. Marks ; 80

Answers supported by case-laws and sections carry due weightage.
. Question No.13 (Case Study) is Compulsory.

Section A — (Marks : 10 x 2 = 20)
Answer any ten of the following:
a) Who is a Banker?
b) What is an ‘Overdraft™?
¢ c) Who is a Judgement Creditor?
d) What is a Cheque?
e) Give a specimen of special crossing.
f) Expand - NEFT or RTGS.
g) Who is a paying Banker?
h)  Who can cross a Cheque?
1)  What is on-line banking?
i j) What is hypothecation?
k) What is a stale cheque?

1)  What is social banking?

Section B - (Marks : 3 x 5 = 15)
Answer any three of the following.

Banker is a ‘dignified debtor’ — Explain.

Explain the reasons for dishonouring a cheque.

[P.T.O.
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What do you mean by banker’s right of set-off? Explain the conditions to exercise the right of
set-off.
What is a cheque? What are the essentials of a valid cheque?
Give any five types of electronic banking.

Distinguish between Cash Credit and Overdraft.

Section C — (Marks : 3 x 15 = 45)
Q. No. 13 (Case Study) is Compulsory.
Answer any two of the remaining.

Explain the General Relationship between Banker and Customer.

What is banker’s duty of secrecy? Under what circumstances he can disclose information relatin
to customer’s account.

Who is a Paying Banker? Explain the precautions to be taken by him while making payment:
What is Garnishee Order? Explain the obligations and rights of a banker as a garnishee.
Write the procedure of using ATM Card aﬁd explain the advantages of ATM.

As a banker how do you deal in following situations?

a) Amount written in words and figures of a cheque differs and presented for payment.
b) A mutilated cheque is presented for payment.

¢) A cheque is presented for payment but the custpmer has countermanded the payment.
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2016

(Revised)
INDIAN FINANCIAL SYSTEM

« - 3 Hours] [Max. Marks : 80

. Answer all the questions subject to choice.
Question No.13 is Compulsory (Case Study).

Section A — (Marks : 10 x 2 = 20)
Answer any ten of the following questions :

Mention any two functions of financial system.

s

= What are the financial assets?
> What is IPO?
2 What is commercial paper?
= Mention any two objectives of SIDBI.
7 What is Money Market?
z Mention the dealers in Stock Exchange.
= Who are the investors?
Mention the types of NBFCs.

Who are the speculators?

(L

Why the SEBI is established?
Give the expansion of (i) ESOP (ii) SGX.

Section B — (Marks : 3 x 5 = 15)
Answer any three of the following questions.

-stinguish between Money Market and Capital Market.

Wnat is financial system? Enumerate its objectives.

[P.T.O.
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Briefly describe the role of financial intermediaries in the financial system.
Explain types of Development Banking.
Explain the need for market regulator.

What is National Stock Exchange (N.S.E.)? Explain the objectives of National Stock Exchange

Section C — (Marks : 3 x 15 = 45)
Question No. 13 is Compulsory.
Answer any two from the remaining questions.

Explain different components of financial system.
Classify Financial Markets & explain them.
Give the meaning of the Stock Exchange. Explain the functions of the Stock of Exchange.

What are the NBFCs? Explain their role as financial intermediaries & in mobilising saving:
from the public.

Explain the organisation & functions of SEBI.

M/s. Nikhil & Co. Ltd. is listed on regional stock exchange. It manufactures smart phones. I
has an authorised capital of Rs.125 crores & an issued & paid up capital of Rs. 75 crores. I
wants to raise funds to meet the working capital requirements of Rs. 25 crores. Give your opin-
ion to the following issues.
a) What are the options of raising capital?
b)  Which option can be used during recession period? Why?
¢) Which option of the following do you recommend at present (recession)?

1) Rights Issue.

ii) Pubic Issue.

11i) Both.
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2016

FUNDAMENTALS OF FINANCIAL MANAGEMENT

T-— - : 3 Hours] [Max. Marks : 80

Answer the questions according to internal choice.
Only simple calculator is allowed.
Question No. 13 case study is Compulsory.

Section A — (Marks : 10 x 2 = 20)

.. Answer any ten questions. Each question carries two marks:

What is Financial Management process?
What do you mean by Window dressing?
What do you mean by present value of perpetuity?

Distinguish between Future cost and Historical cost.

What is weighted average cost of capital?

Mention the reasons for changes in working capital.
What is capital rationing? |
What is Zero Interest Debentures or Bonds (ZIB)?
What is EBIT-EPS analysis?

What is sans-recourse factoring?

Anup Company Ltd. issues 10% preference shares of ¥ 100 each redeemable after
10 years at a premium of 5%. The cost of issue is T 2 per share. Calculate csot of
preference share capital.

If an investment of ¥ 4,000 generates cash inflows of T 4,320 at the end of the first
year. What is the Internal Rate of Return (IRR) ?

Section B -~ (Marks : 3 x 5 = 15)

Answer any three questions. Each question carries five marks.

What is Financial Management? What major decisions are required to be taken in
finance?

What is capital structure? Mention the factors affecting capital structure.

For raising long-term additional capital for a manufacturing company which is profitable
zither equity shares or debentures and why?

[P.T.O.
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5. The Balance Sheet of Anand Company Ltd. is as follows:
Balance Sheet

Liabilities ' Ra. Assets Rs.
Share capital : Net Fixed Assets ... 1,50,000
Equity shares of Rs. 10 each ... 60,000 Current Assets ... 50,000
Retained Earnings 20,000
10% Long-term Debt. 80,000
Current Liabilities 40,000

'2,00,000 2,00,000

The Company’s total asset turnover ratio is 3, its fixed operating costs are ¥ 1,00,000 and I’
variable cost ratio is 40% on sales. The income-tax rate is 50%.

Calculate (a) Operating Leverage (b) Financial Leverage and tc) Combined Leverage.

6. Mahalaxmi Company Ltd. has the following capital structure and after tax costs for tt
different sources of funds used:

Sources of Funds Amount Proportions After-tax cost
Rs. (Percentage! (Percentage)
Debt v 9,00,000 30% 7%
Preference share capital ... 7,560,000 25% 10%
Equity Share capital ... 13,560,000 45% 15%
30,00,000 100%

(a) Calculate weighted aveage cost of capital using book value weights.

(b) The company wisher to raise additional capital of Rs. 12,00,000 for the expansion
the project as below:

Rs.
Debt ... 6,00,000
Preference share capital ... 3,00,000
Equity share capital ... 3,00,000
Assume that specific costs remain the same, compute the weighted marginal cost

capital.

7. Calculate the present value of the following cash flows assuming a discount rate of 8% :

Year Cash flow  Present value factor
g at 8 % discount rate
1 20,000 0.926
2 24,000 0.857
3. 12,000 0.794
4 8,000 0.735
5 6,000 0.681
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Section C - (Marks : 3 x 15 = 45)

Answer any three questions including Question No.13 (Case Study).

~ Explain the meaning, nature and scope of finance function.

= What is Capital Budgeting ? Explain its need and principles.
Write short notes on: '

*  (a) Trading-on-Equity.

(b) Principles of Working capital.

(¢) Internal rate of return.

22 On1-1-2015 a company planned a programme for the year and desire to know working capital
required. From the following information prepare an estimate of working capital required
and forecasted Profit and Loss Account neglecting depreciation on fixed assets:

Issued share capital ... ¥4,00,000
8% Debentures ... ¥1,00,000
Fixed Assets on 1-1-2015 ... ¥2,50,000

Production during 2014 was 1,20,000 units and it is proposed to maintain the same during
2015. The expected ratios of costs to selling price are:

Raw material 60%, Direct wages 10% and Overhead 20%.
Further information as follows:

(a) Raw materials are expected to remain in stores for an average of 2 months before
issue to production.

(b) Each unit of production is expected to be in process for 1 month.

(¢) Finished goods will stay in warehouse awaiting despatch to customers for
approximately 3 months.

(d) Credit allowed by creditors is 2 months from the date of delivery of raw materials.
(e) Credit given to debtors is 3 months from the date of despatch.

(f) Selling price is ¥ 5 per unit.

(g) Sales and production follow a consistent pattern.

22 Atrey Company Ltd. has equity share capital of ¥ 5,00,000 divided into shares of ¥ 100 each.
It wishes to raise further capital of T 3,00,000 for expansion plans. The company plans the
following schemes:

(a) All in equity shares. _

(b) ¥ 1,00,000 in equity shares and T 2,00,000 indebt at 10% p.a.

(c) Allin debt at10 % p.a.

(d) ¥1,00,000 in equity shares and ¥ 2,00,000 in 8% preference shares.

[P.T.O.
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The Company’s Exsiting Earnings Before Interest and Tax (EBIT) are ¥ 1,50,000. The corporat
tax rate is 40%. Determine the Earnings Per Share (EPS) in each plan and comment on th
implications of financial leverage.

13. Case Study (Compulsory question):
Venkateshwar Company’s cost of capital is 12% and it is considering two projects ‘X’ and °
The following data are available:
’ Project ‘X Project Y’

g 4

Investment ... 1,40,000 1,40,000
Cash Flows

Year1 ... 20,000 1,00,000

Year 2 40,000 80,000

Year 3 60,000 40,000

Year4 ... 1,00,000 20,000

Year5 ... 1,10,000 20,000

Select and comment on the most suitable project by using the following methods:
(a) Payback period.
(b). Net present value.
(c) Profitability Index.

The present value of 1 at 12% are :

Year1l ... 0.9
Year2 ... 0.8
Year3 ... 0.7
Year4 ... 0.6
Year5 ... 0.55

KANNADA VERSION
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2016
(Revised)

INTERNATIONAL ECONOMICS |
T-me : 3 Hours] . : [Max. Marks : 80

All sub-questions should be answered continuously at one space.
All sections should be answered in the same answer book.

Section I - (Marks : 10 x 2 = 20)
1. Answer any ten of the following in 2-3 sentences each:

(a) What is Internal Trade?

(b) Who has propounded Absolute Cost theory?
(¢) Give the meaning of Balance of Trade.

(d) What is spot rate of Exchange?

(é) Give the meaning of “FOREX” market.

(f) Name the headquarter of SAARC.

(g) What is devaluation?

(h) Who has given the purchasing power parity theory?
(i) When was IMF established?

(j) Give the meaning of Economic Integration.
(k) What is Free Trade area?

(1) . Expand FIPB.

Section IT - (Marks : 3 x 5 =15)
Answer any three of the following.
2. Distinguish between domestic trade and foreign trade.
2. Explain the functions of World Trade Organisation.

Discuss the merits and demerits of fixed exchange rate.

e

What are the causes for disequilibrium in BoP ?

(W]}

Y

Write a note on Asian Development Bank.

A Country’s Balance of Trade Position is as follows:
Exports of Wheat Rs. 2000 crore

Exports of Sugar Rs. 4000 crore
Exports of Tea Rs. 8000 crore
Exports of Rice Rs. 5000 crore
Exports of Gram Rs. 6000 crore

Imports of Machinery Rs. 10000 crore

Find out whether a country has a favourable or unfavourable Balance of Trade.
PTO




11.

12.

13.
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Section III - (Marks : 8 x 15 = 45)
Answer any three of the following including Question No.13 which is Compulsory.
Explain the comparative cost Theory of International Trade. Points out its criticisms.
Explain the objectives, functions of SAARC.
Describe the objectives, organisation and management of IMF.
Explain the importance of foreign capital. What are the merits and demerits of foreign capital”

.

Critically examine the purchasing power parity theory of foreign exchange.

Caselet:
Following are the items of exports and imports in respect of Japan (in crores of Rs.):
1 Exports of Goods Rs. 60,000
2 Exports of Services Rs. 25,000
3 Exports of Raw materials Rs. 500
4 Exports of IT (Software) products Rs. 10,000
5 Gifts received Rs. 15,000
6 Capital received ‘ Rs. 20,000
7 Imports of goods Rs. 90,000
8 Imports of services Rs. 13,500
9 Imports of raw materials Rs. 500
10 Imports of IT (Software) products  Rs. 10,000
11  Gifts offered Rs. 12,000
12 Capital payments Rs. 4,500
Questions :

(a) Distinguish between Visible and Invisible trade.

(b) Prepare Current Account and Capital Account of Balance of Payment using above
data. . ‘

(¢) What is Balance of payment of Japan ?



3 6259 - D06 -IVSC-R-M - 16
KANNADA VERSION

SR, ZIA 2.ode 5F vF0 200,
DER) DGR/ SVFOTFRL 208 GVg0 TIFADE, 21000,

NP I - (Marks : 10 x 2 = 20)
D3NS Wemn B TINen clevioliariop i DB MIF0E HUZORD .
. (a) ©030% IO 0BT ?

(b) QTTeE FLE AOBE TETTITAT ?

(c) @Smd W BT BEPO.

(d) AIE DRF B3I DOTITER ?

(e) &8@3 2RTW0I WRTHBE, UTF FRRO.

(f) SAARC & &0 %eje@odaa’% BRORD.

(g) ©TRRY, SOTTE ?

(h) ZR¥E 30D BBRTI0D AT BITTEoT ?

(i) ©0BTTRSEOD BeamoRT RO o3nwen z%dﬁomwaéa ?

(j) =6F3 I wgs B3RO ?

() =0 T8 BEeS aocided 2

(1) FIPB &30R0.

Qwn I — (Marks : 3 x 5 = 15)
FEATINGS), eesadd BowTd FINTD SVSOR0.

2 Tg3ed TonR DTed FTIONY BITYR PR0.
3. cPRET m0 Bogesdold %Dojorﬁeﬁa’% QWOAD.
1 38 QRO 308 Moeansd B3y LBRONER, BWFRO.
3 BE3Re Bomeodd wI3oD TONTR, SYAL.
3 R, e;azpdcp@ @Soési B0 ©PY LT LTAWD.
T TeIT w0 W Rd B BENT0ST :

RO T TR. 2000 BReEs
83 OF) 3R, 4000 Boces
BT TP TR. 8000 BRewd
2803 TF) 3R. 5000 3008
TORNY OFY TR. 6000 BReLd
03003R,6TBTED €5330C30 8R. 10000 Brocd
ze3n @Smd T8 9RVBROIT 950 BB BT BORD SHRA0. PT




10.
11.
12.
13.

4 , 6259 -D06-IVSC-R - M -
T I - (Marks : 3 x 15 = 45)
2IeFT Xvedh Ma’n’gﬂn’ VFOXO O3 aﬁé 13 BTN,
©0BTTeCD TR0 BOUTTT Duxie ATROTTZ) OFOR. BT BeBNIS) 89R0.
SAARC @ vdie3nsd mome moﬁorm}ab DIV,
eﬁozcaweo;b TEITRS X RO TSR, Ropeds Tore wd@éa’ﬁo 23237 20.
T3S WOTTVT amsm IO DTIEd WOBTVR BRBRUBNE TRk emmﬁfwé’mﬁs&a 8¢
DTS DATOONT BRWE BgoD ISRTZ0D ATHOZI) ROTFZFeTN TOLEAXD.

A8 ATRRT
BRI BeBT BN BB 03RS LRened B FENT08S :
Brew SNy
1 DCIRFS Todreh 60,000
2 3eBng dodnee 25,000
3 QCURF BB 500
4 TNk 303235953 o3 10,000
5 BT Bocddned 15,000
6 IBT wordeoy 20,000
7 30373 358red 90,000
8 03R3 Bened 13,500
9 woIng Hux T ‘ 500
10 =% B0Z2nT eoins 10,000
11 QeRT 563N ' 12,000
12 WBBBONT worTY 4,500
BER -

(@) Reee3t I wrnesdd TYTOONG SRS FTYT 39R0.

(b) aﬁoeeraséwd cfoewoaj NY AB0DROT BoTAI L9803 W3S (I (*’zé@é) 098 &0 Wor:
méﬁeﬁaﬁ% 303003,

(©) =TS Te3T Bomoodd 1398 28 DI 9




6263 —D09-IVSC-R-M - 16
FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2016

(Revised)
COMMERCIAL ARITHMETIC - 11

Time : 3 Hours] _ [Max. Marks : 80

A

~

9.

10.

11.
12.

Mathematical tables will be supplied on request.
-Simple calculator is allowed.

Section A — (10 x 2 = 20 marks)

Answer any ten of the following:

Define Partnership. ’

State any two types of preference shares.

What is the difference between over insurance and under Insurance?
What is incometax and surchargé?

Divide a profit of Rs. 60,000 among A, B and C in the ratio 2 : 3:7.

Income of a person is Rs. 3,50,000. Find the tax payable by him at 12% if Rs. 1,25,000 is
exempted from tax.

What is joint stock company?
What are debentures?
What is goodwill in partnership?

If 4 men can do a work in 12 days, how many men are required to do the same work in 16
days?

A bankrupt owes Rs. 16,525, pays his creditors 65 P, in the rupee. Find his assets.
What is Banker’s gain? .

Section B — (3 x 5 = 15 marks)

Answer any three of the following:

13. A and B were in partnership with capitals of Rs. 4,000 and Rs. 3,000 respectively. But

A’s capital was in business for 9 months and B’s for 8 months. How did they share a profit
of Rs. 15,0007 :

[P.T.O.




L

14.

16.

17.

18.

Answer any three cf the following:

19

RV

20. a) The capital of a company consists of 1,000 7% Rs. 100 cumulative preference share

21. a) A and B together can do a piece of work in 12 days, B and Cin 15 days and C and A i

-

2 6263 -D09-IVSC-R-M-16

A person pays 10% incometax on his total income and 15% on the excess of his income over
Rs. 2,00,000. Find his total income, if he altogether pays tax amounting Rs. 21,200.

The insurance company paid Rs. 40,000 against a loss amounting to Rs. 1,20,000 on a fire
insurance policy. If the annual premiums payable were Rs. 800 at Rs. 1.25 per cent. Find

the value of the property.

The present worth of a certain sum of money due 9 months hence is Rs. 2,750 at 8% p.a.
What is the sum due?

The assets of an insolvent realise Rs. 8,000 and the liabilities amount to Rs. 28,327.50
including a preferential claim of Rs. 327.50. 1f the legal expenses are Rs. 672.50, how much
dividend in the rupee can be declared?

A train is moving at a speed of 132 kms/hr. If the length of train is 110 metres, how long will
it take to cross a bridge of length 220 metres?

Section C — (3 x 15 = 45 marks)

a) A pays tax at 10% on his total income. B pays tax at 7% on his income of Rs. 2,80,000. 1
after paying tax, A is Rs. 24,000 poorer than B. Find A’s income. ’ &

b) 5000 articles worth Rs. 40,000 were insured for 60% of their value. During transit some
articles were damaged and reduced to 60% of their value. If the amount recovered was

-

Rs. 1,200. Find the No. of articles damaged. : p

and 500 equity shares of Rs. 100 each and Rs. 1,00,000 5% debenture stock. In the firs
year no profit was distributed. In the second year the directors decided to distribute Rs
21,000. What percentage dividend was declared on equities?

b) A perscn invests Rs. 20,100 partly in 3% stock at 80 and partly in 4% stock at 105. H
sells the former at 90 and the latter at 93 gets back Rs. 20,100. Find the amount investe

in each stock?

20 days. How many days will A alone take to do the work?

b) Two trains 105 metres and 95 metres long are running on parallel rails at the rate of 4
km and 40 km per hour respectively. In what time will they pass each other, if they a
running (i) in the opposite directions ; (ii) in the same directions.
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22.

24.

*23.

b)

a)

b)
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A cistern is filled by two taps in 10 and 15 hours respectively and is emptied by a third
tap in 8 hours. If all the three taps are opened at once, in what time will be cistern be
filled?

The cash value of bill drawn on April 23 at 6 months and discounted on June 2 at
12% p.a. was Rs. 21,420. Find the amount of the bill. p

A, B, C and D divide a profit of Rs. 24,000 among themselves so that A gets twice as
much as B; A and C together receive thrice as much as B and A together and D gets one-
fourth of the combined shares of B and C. Find each partner’s share. 8

X and Y are in partnership, the entire capital of the firm being Rs. 1,50,000. It is agreed
that after allowing 5% interest on capitals and a salary of Rs. 5,000 per annum to Y, the
remaining profit should be divided in proportion of capitals. If in one year, each partner
in all receives Rs. 40,000, what are their capitals? 7

A bankrupt can pay 40 P. in the rupee if all his liabilities are ordinary. If however
Rs. 2,000 of the liabilities are ranked as preferential, he can 5 P. less in the rupee. Find
his assets and liabilities. 8

A company decides to pay off its 7% debenture stock one of Rs. 2,00,000 at 104 and
another of Rs. 50,000 at 102. To do this, it issues a new 4% stock of Rs. 1,50,000 at 99
and 4%% stock of Rs. 1,50,000 at 98. What will be the yearly saving in interest and how
much money will the company have in hand after the transaction is completed?
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FOURTH SEMESTER B.Com. (Revised) DEGREE EXAMINATION, MAY 2017
CORPORATE ACCOUNTING
Paper 11
_me: 3 Hours] [Max. Marks : 80
Attempt all Sections according to internal choice.
Simple and Non-programmable calculator allowed.
Provide working notes as part of answer. Question No. 13 is compulsory.
* Section — A (Marks: 10 x 2 = 20)
Answer any ten of the following:
a' What is super profit?
b) When do you suggest 'yield method' of valuation of shares?
' State any two reasons for Amalgamation.
) Name any two items of intangible assets.
What do you mean by Preferential Creditors?

RS VR W o

» Calculate surplus from securities from following assets realized Rs. 60,000, realisation
expenses Rs. 4,000, Loan on the asset Rs. 34,000.

2+ What is Contingent liability?

Give meaning of Inter Office adjustment.

Expand FMP and NPA.

- What is Minority interest?

E s Define Subsidiary Company.

AA‘F,‘,
-

What is unrealized profit?
Section — B (Marks: 3 x 5 = 15)

Answer any three of the following:

- Rock Ltd. decided to purchase the business from Rahila. The goodwill is to be valued at 3 years
surchase of last four years profit under Simple Average Profit method.

Profits for the last 4 years are as follows:

** Year — Rs. 60,000

1% Year - Rs. 1,50,000

JI'* Year — Rs. 2,00,000 (after including non-trading income of Rs. 20,000)
| S Year — Rs. 2,10,000

7 :nd value of Goodwill.

=.m the following particulars, calculate value of equity share under yield method.
= 6.000 10% Preference Shares of Rs. 100 each fully paid.
:’ = 50.000 Equity Shares of Rs. 10 each Rs. 8 paid up.

. Normal Rate of return : 16%

= Expected Profit before interest and tax Rs. 4,15,000.

107 Debentures worth Rs. 1,50,000. [P.T.O
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Transfer to general reserve 20% of profit.
z Income Tax rate is 30%.

1. Township Co.Ltd. agreed to acquire a business of Villa Co. Ltd. as on 31 3 20186.
Balance Sheet of Villa Co.Ltd. as on 31/03/2016:

Particulars Note | Amount
. No. Rs.
I  Equity & Liabilities
(A) Shareholders Fund
(1) Share Capital 1 6.00,000
(2) Reserves & Surplus 2 1.00,000
(B) Non-Current Liabilities
Long Term Borrowings 3 2,00.000
(C) Current Liabilities 4 3,00,000
12,00,000
II  Assets
tA» Non-Current Assets
1) Tangible Fixed Assets 5 11,00,000
(B) Current Assets
- Inventories (Stock) : - 40,000
- Trade Receivables (S. Debtors) - 50,000
- Cash, Equivalents (Bank Balance) - 10,000
12,00,060
Notes to Balance Sheet:
Note 1. Share Capital:
2,000 6% Preference Shares of Rs. 100 each 2,00,000
40,000 Equity shares of Rs. 10 each 4,00,000
6.00,000
2. Reserves & surplus:
General Reserve 1.00,000
3. Long Term borrowings:
10% Debentures of Rs. 200 each 2.00,000
4, Current Liabilities:
S.Creditors 2.00,000
Bills Payable 1.00,000
3.00,000
b. Tangible Fixed Assets:
Land & Building 6.00,000
Plant & Machinery 4.00,000
Furniture & Fixtures 1.00,000
11.00,000
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The Purchase Consideration was agreed as under:

| Existing Preference Shareholders be allotted new 8% Preference Shares of same amount.

2 Equity Shareholders were to be allotted Six equity shares of Township Company of

Rs. 10 each for every Five equity shares of Villa Co. Ltd.

3 10% Debentures of Villa Co.litd. were to be discharged at a premium of 10% by issue of 12%

Debentures of Rs. 200 each of Township Co.Ltd.

He®

Calculate Purchase Consideration.

A cash payment of Rs. 2.00 for every equity shares of Villa Co.Ltd.

XYZ Co.Ltd. went into voluntary liquidation on 31/03/2016 on which date its capital Structure

iz as follows:

1.200 10% Preference Shares of Rs. 100 each fully paid.

30.000 Equity Shares of Rs. 10 each fully paid.

Assets realised Rs. 1,80,000. Liquidation expenses Rs. 10,000.

Liguidators remuneration is fixed as follows :
a'  Fixed remuneration Rs. 10,000 for Assets realized.
bi  10% on amount paid to Preferential Shareholders.

The unsecured creditors were Rs. 50,000 (including Rs. 5,000 for Preferential Creditors).

Prepare Liquidators final statement of account.

‘A’ Co. Ltd. acquired 75% of shares in "Y' Co.Ltd. on 01/10/2015 at Rs. 15 per share. The following

iz the Balance Sheet of 'Y' Co. Ltd. as on 31/03/2016:

Particulars Note Amount
No. Rs.
I  Equity and Liabilities:
(A) Shareholders Fund
(1) Share Capital 1 15,00,000
(2) Reserves & Surplus 2 5,25,000
(B) Current Liabilities:
Trade Payables (Creditors) - 3,00,000
23,25,000
II  Assets:
(A) Non-Current Assets:
Tangible Fixed Assets - 15,00,000
(B) Current Assets:
(1) Inventories (Stock) 3,00,000
(2) Trade receivables (S. Drs.) 5,00,000
(3) Cash & Equivalent (Cash at Bank) 25,000
23,25,000

(P.T.O.
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Notes to Balance Sheet:
Note (1) Share Capital:
1,50,000 equity shares of Rs. 10 each

(2) Reserves & Surplus:
General reserve on 1-4-2015
Less: Preliminary expenses

Profit & Loss Account on 1/4/2015
Add: Profit for current year

Calculate Minority interest.
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15,00,000
3,00,000
75,000
2,25,000
1,50,000
1,50,000
3,00,000
5,25,000

Write the Proforma of Schedule 14 of Profit and Loss account of banking company.

Section - C (Marks: 3 x 15 = 45)
Q. No. 13 is compulsory. Answer any two of the remaining questions.

The following is the Balance Sheet of Resort Ltd. for the year ending 31/03/2016:

| Particulars Note Amount
No. Rs.
1 Equity and Liabilities:
| (A) Shareholders fund:
| (1) Share Capital 1 4,00,000
i (2) Reserves & Surplus 2 3,10,000
‘ (B) Non-Current Liabilities
(10% Debentures) - 1,00,000
'+ Current Liabilities:
Trade pavables (S. Creditors) - 1,30,000
9,40,000
IT  Assets:
A1 Non-Current Assets:
(1) Tangible fixed Assets 3 5,00,000
2) Intangible fixed Aszets (Goodwill) - 40,000
'B1 Current Assets:
Trade receivables (S. Debtors: - 4,00,000
9.40,000




Notes to Balance Sheet:
1. Share Capital:
40,000 Equity Shares of Rs. 10 each fully paid

Reserves & Surplus:

o

General Reserve

Profit & Loss A/c (Credit) Balance
3. Tangible Fixed Assets:

Land & Building

Plant & Machinery

k Additional Information:

i. The Machinery & Land and Building were independently valued at Rs. 1,00,000 and

Rs. 1,60,000 respectively.

Determine value of equity under
(1) Intrinsic Value Method.

(2) Yield Method.

(3) Fair Value Method.

i
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4,00,000
1,90,000
1,20,000 3,10,000
3,00,000
2,00,000 5,00,000

2. Goodwill valued at Rs. 50,000.

3. The net profits before tax for last three years are as follows:
2013-14 - Rs. 1,60,000
2014-15 - Rs. 1,80,000
2015-16 - Rs. 1,40,000

4. Applicable Tax rate is 30%.

5. Transfer 20% of profit to general reserve.

5. Normal Rate of Return in similar business is 18%.

r'nllowing are the Balance Sheets of Maha Ltd. and Raja Ltd. as on 31/03/2016:

Maha Ltd.
Particulars Note | Amount
No. Rs.
Equity and Liabilities:
A) Shareholders fund
(1) Share Capital 1 6,00,000
(2) Reserves & Surplus 2 1,20,000
B Non-Current Liabilities:
(6% Debentures) - 60,000
Ci Current Liabilities (S. Creditors) - 70,000
8,50,000

[P.T.O.
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6
Particulars Note Amount
No. Rs.
II Assets:
(A) Non-Current Assets:
Tangible Fixed Assets 3 5,40,000
* (B) Current Assets:
- Inventories (Stock) - 1,00,000
- Trade receivables (S. Debtors) - 1,90,000
- Cash, Cash Equivalents(Bank balance) - 20,000
8,50,000
Notes to Balance Sheet:
Note No. 1 Share Capital
(60,000 Equity Shares of Rs. 10 each) 6,00,000
2.  Reserves & Surplus:
General Reserve 1,20,000
3. Tangible Fixed Assets:
Land & Building 3,00,000
Machineries 2,40,000 5,40,000
Raja Ltd.
Particulars Note Amount
No. Rs.
I Equity and Liabilities:
(A) Shareholders Fund:
(1) Share Capital 1 3,00,000
(2) Reserves & Surplus 2 1,00,000
(B) Non-Current Liabilities:
(6% Debentures) - 40,000
(C) Current Liabilities:
Trade Payables (S. Creditors) - 60,000
5,00,000
II.  Assets:
(A) Non-Current Assets:
Tangible Fixed Assets 3 2,80,000
(B) Current Assets:
- Inventories (Stock) - 80,000
- Trade receivables (S. Debtors) - 1,28,000
- Cash, Cash Equivalents (Bank Balance) - 12,000
5.00,000
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Note to Balance Sheet:
Note No. 1  Share Capital
(30,000 equity Shares of Rs. 10 each) - 3,00,000
2. Reserves & Surplus:
Workmen's Compensation Fund 20,000

Reserve Fund 40,000
. P&L Account Cr. Balance 40,000 ,
1,00,000
3. Tangible Fixed Assets:
Land & Building 1,80,000
Machinery 1,00,000
2,80,000

Both companies agreed to amalgamate and to form a new company 'Maharaja Ltd' which will

take over assets and liabilities of both companies.

(a) In case of Maha Ltd, its shareholders will get 4 shares of Rs. 10 each at a value of Rs. 12
per share in Maharaja Ltd. for every 3 shares held in Maha Ltd.

(b) The assets and liabilities of Raja Ltd are taken over at book values subject to 5% provision
on debtors, 10% depreciation on Land & Building, and Plant and Machinery. Goodwill is
to be valued at Rs. 50,000.

tc) Maharaja Ltd. is incorporated with authorised capital of Rs. 20,00,000 all in equity
shares of Rs. 10 each.

Calculate Purchase Consideration and prepare amalgamated balance sheet. Purchase

Consideration is paid in equity shares.

1. From the following balance sheets and adjustments, calculate minority interest and prepare
consolidated balance sheet as on 31/03/2016:

Particulars Note H Ltd S Ltd
No.
I Equity and Liabilities:
(A) Shareholders Fund:
(1) Share Capital 1 5,00,000 1,00,000
(2) Reserves & Surplus 2 2,50,000 90,000
(B) Current liabilities:
Trade payables 3 1,00,000 75,000
8,50,000 2,65,000
II  Assets:
(A) Non-Current Assets:
(1) Tangible Fixed Assets 4 4,00,000 60,000
(2) Investments 5 1,50,000 --
(B) Current Assets:
- Inventories (Stock) - 2,30,000 1,20,000
- Trade receivables 6 70,000 85,000
8,50,000 2,65,000
[P.T.O.
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Notes to Balance Sheet: H. Ltd. S. Ltd.
Note: 1. Share Capital:
(Equity Shares of Rs. 10 each) 5,00.000 1,00,000
2. Reserves & Surplus:
Reserve Fund (1.4.2015) 50,000 30,000
. P&L A/c Credit (1.4.2015) ' 1,50,000 40,000
Profit for the year 50,000 20,000
2,50,000 90,000
3. Trade Payables:
Creditors 1,00,000 60,000
Bills payable - 15,000
1,00,000 75,000
4. Tangible Fixed Assets:
Land & Building 2,50,000 40,000
Machinery 1,50,000 20,000
4,00,000 60,000
5. Investments:
7,500 shares in S. Ltd. 1,50,000 -
1,50,000 -
6. Trade receivables:
S. Debtors 65,000 85,000
Bills receivable 5,000 -
70,000 85,000

Adjustments
1) The H Ltd. acquired shares in S. Litd. on 1/7/2015.

9) The B/R of H Ltd. were all accepted by 'S' Ltd.
3) The creditors of H. Ltd. included Rs. 20,000 payable by S. Ltd.
4) The stock of H. Ltd. included goods purchased from S. Ltd. worth Rs. 10,000. The goods
were supplied by S. Ltd. at cost plus 25%.
5) Accounting Year is from 1/4/2015 to 31/3/2016.
1. Following data is taken from the books of Shrishri Bank Ltd. on 31/03/2015:

{
{

Share Capital (60,000 shares of Rs. 10 each) 6,00,000
Statutory Reserves 1,05,000
Profit and Loss Account balance (Credit) (as on 31/3/2014) 45,000
Current Deposits 3,45,000
Savings Bank Account 75,000
Fixed Deposit Account 2,40,000
Borrowings from other bank 2,25,000
Emplovee Security Deposits 67,500
Cash in Hand 2,10,000
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Balance with RBI 1,50,000
Balance with other banks 2,70,000
Money at call & short notice 60,000
Investments in Gold coins 2,85,000
Investments in shares of company 18,000

. Investments in Govt. bonds 42,000
Bills purchased and discounted ' 1,20,000
Cash credits and overdrafts 4,65,000
Premises (Cost 1,50,000) 1,14,000
Furniture (Cost 75,000) 51,000
Inter Office adjustment (Dr.) 75,000 u
Interest accrued on investments 15,000
Net Profit for the year 1,50,000
Adjustments:

1 Provide for rebate on bills discounted Rs. 7,500.

2.  Write off depreciation on Building & Furniture Rs. 9,000 and Rs. 6,000 respectively.
3. Current deposit include Rs. 15,000 debit balance representing overdraft. ;
4. Bills for collection Rs. 1,05,000 and acceptances and endorsements Rs. 75,000.

Prepare the balance sheet of Shrishri Bank Ltd in prescribed format and schedules.

12. Unlucky Co.Ltd. went into voluntary liquidation on 31/03/2016 with following details:
Capital Structure: Rs. Rs.
; (1) Preference shares
; (1,50,000 10% shares of Rs. 10 each,

Rs.7 paid up) 10,50,000
(2) 1,50,000 Equity shares of Rs. 10 each
Rs. 9 called up 13,50,000 |
Less: Calls in arrears 30,000
13,20,000
(3) Advance call money received:
On Preference Shares ' 3,60,000
On Equity shares 60,000
- 4,20,000
(4) Trade Creditors 4,80,000
Bank overdraft 3,00,000
(5) Assets realized 30,00,000

[P.T.O.
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(6) Liquidation expenses 30.000
(7) Calls in arrears are duly collected.
(8) Liquidators remuneration (Fixed) 50.000
Prepare Liquidators Final Statement of Account.
13. Case Study (Compulsory): |
Thé following is the position of "Haar' Company as on 01/01/2015:

(A) Capital Structure Rs.
(1) 6,000 5% Preference Shares
of Rs. 100 each fully paid. 6.00.000
(2) 1,600 Class 'A' shares of Rs. 100 each
fully paid (Equity) 1.60.000 .
(3) 4,000 Class 'B' shares of Rs. 100 each
Rs. 80 paid up (Equity) 3,20,000
(B) Liabilities:
(1) 6% Debentures of Rs. 100 each 3,00,000
(2) Mortgage on buildings 80,000
(3) Preferential Creditors 20,000
(4) Unsecured creditors 1,880,000
(C) Assets Realized
(1) Buildings , 2,50,000
(2) Other Assets 10,30,000
(3) Bank 60,000

Company went into Voluntary Liquidation on 01/01/2015.
Additional Information:
(a) Preference dividend was in arrears for one year.
(b) Preference shares have priority over Equity class A & Class B shares.
(¢) Cost of Winding up came to Rs. 7,800.
(d) Liquidator is entitled to commission:
l - Fixed Commission Rs. 20,000 and
- 5% on amount paid to Unsecured Creditors.
(e) All payments were made on 01/10/2015.
You are required to
1)  Prepare liquidators final statement of account.
2)  Comment on solvency of company.
3)  Can Company pay debenture interest up to date of payment?

If ves - give justification.

If no - give justification.
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2017

(Revised)
INDIAN FINANCIAL SYSTEM

f':;e : 3 Hours] [Max. Marks : |

Answer all the questions subject to choice.
Question No. 13 is compulsory (Case Study).

Section A — (Marks : 10 x 2 = 20)

- Answer any ten of the following questions :
a) What is Financial System?
b) What is Treasury Bill?
c)  What do you mean by Financial assets?

d) What are the components of Indian Financial System?
e) What is Right Issue?
f) What is Private Placement?
g) What do you mean by Marketable Assets?
h) What is Repo and Reverse Repos?
1)  Expand the following:
i) IDBI ii) NABARD
J) What do you mean by Mutual Fund?
k)  Whom do you call as Bull Speculator?
1) What is Investor Education and Protection Fund?

Section B — (Marks : 3 x 5 = 15)
Answer any three of the following questions.

What are the objectives of Financial System?
What are the objectives of Money Market?

What are benefits of Stock Exchange to Investors?
Explain the functions of SIDBI.

What are the powers of SEBI?

What are the general guidelines to be observed by investors while investment of money?
(P.T
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Section C — (Marks : 3 x 15 = 45)
Question No. 13 is compulsory (Case Study).
Answer any two of the remaining questions.

Distinguish between Money Market and Capital Market.

[Explain the different methods of Public Issue.

Explain the functions of Financial Markets.
What is Stock Exchange? Explain the functions.
Explain the functions of SEBI.

Case Study (Compulsory)

On 8" November 2016, Government of India has banned the higher value note of Rs. 500 an
Rs. 1,000, and making them as no longer legal tender. In the circumstance, you are required v
answer to the following:

a) Why these notes were banned or demonetised?
b) What are effects of Demonetisation?

¢) Do you agree with this Demonetisation can serve its purpose?
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, MAY 2017
FUNDAMENTALS OF FINANCIAL MANAGEMENT

(Revised)

— < 3 Hours] [Max. Marks : 80

Answer the questions according to internal choice.
Only simple calculator is allowed.
Question No. 13 Case Study is compulsory.

Section A — (Marks : 10 x 2 = 20)
~nswer any ten questions. Each question carries two marks:
Define Financial Management.
- Give two advantages of profit maximization.
What is time value of money?
= Name the four finance decisions.
What is leverage?
What is cost of capitai?

Find out the future value of Rs. 1600 received after two years at 10% time preference
rate.

Expand : i) EBIT 1) ROI

Operating Leverage 2.52 and financial leverage 2.24. Calculate combined average.
Name the classification of working capital.

What is the difference between PBT and PAT?

Calculate K 4 from the following:
12% Debenture of Rs. 6,00,000
Issued at 10% premium

The company is 50% tax bracket.

[P.T.O.
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Section B - (Marks : 3 x 5 = 15)
Answer any three questions. Each question carries tive marks.

Give any four merits of wealth maximization objective.

Calculate operating leverage and financial leverage from the following information:
Sales units 40,000

Selling price per unit Rs. 10
Variable cost per unit Rs. 7
Fixed cost Rs. 90,000
10% Debenture ns. 2,60,000

Explain the factors determining the working capital requirement of a manufacturing concel

R.S. Co. Ltd. issued 20,000, 10% preference shares of Rs. 100 each. The cost of issue 1 2
Find out cost of preference share capital if:

a) issued at par
b) issued at a premium 10%

Explain the types of cost of capital.

Rs. 30,000 invested at 5% compounding annually for 10 years. Find out future value. Accord
to compounding value table Rs. 1 for 10 years at 5% interest 1s 1.629.

Section C — (Marks : 3 x 15 =45)
Answer any three questions, including Question No. 13 (Case Study)
Each question carries equal marks.

Explain the role and responsibilities of Finance Manager.

Write short notes on:

a) Trading on equity

b) Ploughing back of profit
¢) Net present value

What is capital budgeting and explain the importance of capital budgeting.
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two prolects at a discount rate

£ 10%.

Particulars Project X’ Project Y’
initial investment Rs. 2,00,000 ; Rs. 3,00,000
Scrap value Rs. 10,000 Rs. 20,000
Zstimated Life 5 Years 5 Years
'_ash inflows
1zt Year Rs. 50,000 | Rs. 2,00,000
iInd Year Rs. 1,00,000 | Rs. 1,600,000
IIIrd Year Rs. 1,00,000 Rs. 50,000
IVth Year Rs. 30,000 Rs. 50,000
Vth Year Rs. 20,000 Rs. 20,000
Present value Rs. 1 for 5 years at discount rate 10%.
Year : Ist Year IInd Year ITlrd Year | IVth Year ;Vth Year
P.V. Factor
at 10% 0.909 0.826 0.751 0.683 0.621

) Suggest which project is profitable.

- ABC estimates the following. As a financial manager estimate the average amount of workirz
capital required for the year, after making a provision of 10% for contingencies.

Particulars

Amount for the year

Amount blocked goods
Stock of finished goods
Stock of raw materials
Average credit given:
Inland sales-6 weeks
Export sales-1% weeks
Lag in payments:
Wages-1'% weeks

Raw materials 12 months
Rent 6 months

Clerical staff %2 month
Manager Y2 month

Miscellaneous expenses 1% month

Rs.

70,000
90,000

15,60,000
7,80,000

13,00,000
4,80,000
1,00,000
3,12,000

48,000
72,000

[P.T.O.
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d) Payment in advance:
Sundry expenses paid quarterly in advance 1,00,000

Assume 52 weeks in a year.

Case Study (Compulsory Question):

MNR Co. Ltd. wants to set up a new industry at Raichur, at an investment of Rs. 30,00,00¢
The new industry is expected to yield EBIT of Rs. 6,00,000. For maximising its EPS, th.
company is considering the following alternative financial proposals:

a) All in equity shares of Rs. 100 each.
b) Rs. 15,00,000 in 10% preference shares and remaining in equity shares of Rs. 100 each
¢) Rs. 18,00,000 in 8% debentures and remaining in equity shares of Rs. 100 each.

d) Rs. 18,00,000 in 12% debentures and Rs. 6,00,000 in 8% preference shares and remainic
in equity shares of Rs. 100 each.

The Company is in 50% tax bracket. Determine EPS in each plan and comment. Suggs
suitable plan.

-
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, APRIL 2018

(REVISED NEW)
KANNADA (NON KANNADIGA'S)

(Kannada Kali ~ Basic)

Time: 3 Hours] [Max. Marks : 80

Bhaashe Mattu Barahada Shuddige Gamana Kodalaaguvudu
1. (a) Doctor Mattu Roogigal Naduvina Sambhashane reetiyalli Bareyiri.
‘ Or -
(b) Kelagina Kriyapadagalannu Upayogisi Sarala Vaakyagalannu rachisiri. (BeeKaada 5 KKe):
(i) Hoogu
(1)) Muri
(1) Kudi
(iv) Kaayu
(v) Kollu
(vi) Thole (15)
. (a) Kelagina Prashnegalige Sarala reetiyalli Uttarisiri. (BeKaad 5 KKe):
(1) Niivu Beligge Eshtu Gantege Eeluttiri?
(ii) Nimage modalu Kannada Bartha Iralillava?
(ii1) Halebidu Beeluru Yava Jille Yallive?
(iv) Shantalaage Idda Birudeenu?
(v) Karnatakakke Hinde Idda Hesareenu?
(vi) Gommatana Virgraha Ellide?

Or
(b) Kelagin Sapeksha Kriyaruupagalannu Balasi Vaakyagalannu rachilsiri (Beekaad 5 KKe):
(i) Thinda (iv) Bandiruva
(1) Kalita (v) Noodada
(i1i)) Noodida (vi) Kudiyuva (15)
(a) Ibbaru Vyaktigalu Makkal Shikshanada Bagge Vichaarisuva Matugalannu Bareyiri:
Or '
(b) Kelagina Bhuthakaalada Pratyagalannu Upayoogisi Sarala Vakkyagalannu Rachisiri:
(1 Ka @v) Eid
@) Ta (v) da
(111) Da (15)

[P.T.O.
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4. (a) Kelagin Vaakyagalannu englishge anuvaadisiri (Beekaad 5 KKe)
(i) Ramaniginta Bhiima Balashali
(i) Naanu Uurige Hoogabeeku
(i11) Naanu Dharwadadalli Kalite
(iv) Paata Maaduvavanu Adhyapaka
(v) Raju Maguvige Hodeda
(vi) Naavu Dariyalli Ondu Haavu Kandevu

Or
(b) Kelaginavugalannu Kuudisi Bareyeri (Beekaada 5 KKe):

(1) Nodada + Avalu =
(il) Konda + Avanu =
(iii)) Bandu + Irathane =
(iv) Tada + Aagi =
(v) Channa + Aagi =
(vi) Bandu + Iddare = (15)

5. Beekaad Yaradakke tippani bareyiri:
(a) Karnataka
(b) Beku-Beda
(¢) Halebidu. (2x4=8

6. Bitta Sthala tumbiri.
(a) Avaru ninne Uurininda .......... (Baa)
(b) Naavu ninne Bengalurinalli .......... (Irw)
(¢) Aa Hudugi mane .......... Hoodalu (Bidu)
(d) Avaru Kannada .......... Chennagi: Maatnaduttare (Kali)
(e) Rama Ravananannu .......... Jelige Hooda (Kollu) u
if) Avanu liga Bengalurinalli Kelasa .......... (Madu)
tg) Niinu Ruumige .......... Naanu Pustak Koodtini (Baa)
q TV, Thale novu Barutte (Noodu)

1) Avaru Dina namma manege .......... (Baru)

(j)  Railu Aphaghatadalli Iidu Jana .......... (Sayu)

(k) Aavalu Aa Pustak .......... Artha Madikondalu (Oodu)
() Avaru Aatadalli .......... (Soolu)
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FOURTH SEMESTER B.Com. (Revised) DEGREE EXAMINATION, APRIL 2018
COMPUTER APPLICATIONS-II
Hours] [Max. Marks : 80

Answer all Sections subject to internal choice.
Question No 12 is compulsory.

Section - A

~<wer any ten questions. Each question carries two marks. (10 x 2 = 20)

'

~~:wer anv three questions and each carries five marks. 3x5=1

What is cell?

Define rows.

What is Smart Art?

What is cell Reference?

Mention the steps to rename the worksheet.
\Mention any two logical functions with syntax.
What is cell range?

Anv two disadvantages of SAP.

Expand PP and MM.

What do you mean by information?

What is DSS?

Name any two modules of SAP.

Section - B

Ot

)

Explain the applications of an Electronic spread sheet.

Explain the clipboard group in Home tab.

Explain the steps to insert chart in MS-Excel 2007.

Explain any five statistical functions with syntax and example.
Explain the advantages of SAP ERP.

Explain the objectives of MIS.
[P.T.O.




0. Explain the Mathematical and text functions with syntax and example. (any five 1n each).

~
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Section - C
Answer any three questions, including question number 12.
which is compulsory. each carries 15 marks.

Explain the components of the MS Excel Window -2007. (3 X 15=45)

Explain the different types of charts in MS. Excel.

Explain the characteristics of MIS.

“rite the steps to prepare employee salary sheet with the following fields.

—riao Name, Designation, Basic, DA, HRA, TA, Gross. PF and Net Salary. Enter at least
- r=ords and calculate following fields according to the condition given below.

_ -~ -2 ofthe Basic
—:.~ - 270 . of the Basic

=~ -~ 1 the Basic

-~ :Zthe Gross salary
Soosiizaary

“- <. nites on any three of the following:
so:tores T MS-Excel.

—: n:ntz of chart.
_ I x Tunctions.

~Tor-x T SAP

Tinil:TIIn processing system.
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, APRIL 2018

[Revised]

FUNDAMENTALS OF FINANCIAL MANAGEMENT
—.== 3 Hours] [Max. Marks: 80

Answer the questions according to internal choice.
Only Simple Calculator is allowed.
Question No. 13 Case Study is Compulsory.

Section A

Answer any ten questions. Each question carries two marks. (10 x 2 = 20)

= What is Business Finance?
= State two advantages of Wealth Maximization.

¢ What is 'Pay back' period?

£,

Give two techniques of Time Value of Money.

What is Operating Leverage?

(48]

What is cost of debt capital?
What is Working Capital?
Expand: i) NPV ii) IRR

Operating Leverage 3.83 and Financial Leverage 3.27. Calculate combined leverage.

uy

vy

Calculate KP:

5000 Preference Shares of Rs. 100 each carrying 6% dividend which are issued at 10%
premium.

k: What is factoring?
+ What is Capital Budgeting?
Section B
Answer any three questions. Each question carries five marks.

- Give any four merits of Profit Maximisation objective. (3x5=15)

= List any five factors to determine working capital.

[P.T.O.
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4. Explain the techniques of time value of money.
5. Calculate operating and financial leverage from the following information:
Selling Price per unit Rs. 100
No. of units sold 2,000
Variable cost per unit Rs. 50
" Fixed cost - Rs. 30,000
12% debentures - Rs. 1,00,000.

6. Rs. 40,000 invested at 5% compounding annually for 10 years. Find out future value. According
to compounding factor value table Rs. 1 for 10 years @ 5% interest is 1.629.

7. Calculate weighted average cost of capital of Shanta Co. Ltd. from the following:

Sources Amount Cost

i+ Equity shares 8,00,000 10%

i1t Preference Shares 3,00,000 8%

iit  Retained earnings 2,00,000 9%

iv) Long term Debt 4,00,000 7%
Section C

Answer any three questions including Question No. 13 (Case Study).
Each question carries equal marks.

5. Define financial management. Explain its importance. (3 x 15 =451
9. What is capital structure? Explain the factors influencing on the capital structure.
10. What is capital budgeting? Briefly explain its merits and demerits.

11. Soumya Co. Ltd. provided the following information: Estimate the net working capital after
providing 10% contingencies. The cost structure is as follows:

Raw Materials 40%
Direct Labour 15%
Overheads 25%
Cost of Sales 80%

a) Selling Price per unit Rs. 200.
b1 Raw Material in Stock - average 4 weeks.

¢’ Work-in-progress (assume 50% completion stage with full material consumption) averagz2
2 weeks.
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d'  Finished goods in Stock - average 4 weeks.
e’ Credit allowed by Suppliers average 4 weeks.
1 Credit allowed to debtors - average 8 weeks.

' Cash at Bank Rs. 1,00,000

aQ

ht Output 26,000 units per annum.

Assume that production is sustained at an even pace during the 52 weeks of the year. All
sales are on credit basis.

There are two projects to buy a machine costing Rs. 10,00,000 having 5 years life.

Project A (Cost of Capital 10%) Project B (Cost of Capital 12%)
Year Cash flow P.V. factor Year Cash flow P.V. factor
1 2,40,000 0.909 1 3,00,000 0.893
2 3,00,000 0.826 2 4,00,000 0.797
3 4,00,000 0.751 3 6,00,000 0.712
4 4,00,000 0.683 4 4,00,000 0.636
5 5,00,000 0.621 5 2,00,000 0.567

Which proposal is accepted based on N.P.V.?

Case Study (Compulsory Question):

Chaya Ltd' has equity capital of Rs. 10,00,000 divided into shares of Rs. 100 each. For its
=Xpansion, the Company desires to raise additional capital of Rs. 10,00,000. Financial advisor
zives the following alternatives:

2 All in equity shares of Rs. 100 each
o> Rs. 6,00,000 10% debentures and remaining in equity shares.
Rs. 7,00,000 12% Preference Shares and remaining in equity shares.

Rs. 8,00,000 10% debentures, 1,00,000 9% Preference Shares and remaining in equity
shares.

£J.

The Company is in 30% tax bracket. The Company's EBIT is Rs. 4,80,000.

Jetermine EPS in each plan and comment. Suggest suitable plan.

[P.T..
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, APRIL 2018

[Revised]
INDIAN FINANCIAL SYSTEM

- Time: 3 Hours] [Max. Marks : 80
Answer all the questions subject to Choice.
Question No. 13 is Compulsory (Case Study).

Section A - (Marks: 10x 2 =20

- Answer any ten of the following questions:

a'  What is Finance?

b'  What is meant by Financial Market?

¢t What is Secondary Market?

d' What do you mean by Non-marketable Assets?
2/ What is Unorganized Market?

{1 What is Short-term Loan Market?

< What is Commercial Paper?

a1 Expand: ) IPO  ii) BSE

1 What is Bonus Method of Issue?

1 Whom do you call as Bear Speculator?

=/ Write any two risks of Investing in Mutual Fund.

What do you mean by Financial Intermediary?

Section B — (Marks: 3x 5 = 15)
Answer any three of the following:

What are the different components of Financiél System?

Write any five distinctions between Money Market and Capital Market.
Explain briefly any five functions of Stock Exchange.

What are the advantages of Investing in Mutual Fund?

txplain briefly the functions of IFCI.

“What are the Stock Market Malpractices?
[P.T.O.
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Section C - (Marks : 3 x 15 = 45)

Question No. 13 is Compulsory (Case Study).
Answer any two of the remaining questions.

8. Explain the objectives and functions of Capital Market.
9. Explain the benefits of Stock Exchange to Companies and Investors.

10. What are the major reforms in the Indian Financial System?

11. What are the objectives of LIC? Why savings in Life Insurance is superior to other Savin;
Schemes?

12. What are the objectives of SEBI? Explain its Powers.
13. CASE STUDY:

Mr. Malipatil retired from the Government job recently. He received a sum of Rs. 30 lak
retirement benefits. He seeks your advice for investment. As a financial expert, which irvest
do you suggest among the following? Give reasons.

a) Shares d) Agricultural Land
b) Bank Deposits e) Apartment
c) Site
——N
R —"
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, APRIL 2018
[Revised]
CORPORATE ACCOUNTING
Paper 11

I.me: 3 Hours] [Max. Marks : 80
Attempt all Sections according to internal choice.
Simple and non-programmable calculators are allowed.,
Question No. 13 is Compulsory.

Section A — (Marks: 10 x 2 = 20)

- Answer any ten of the following:

ar - What is goodwill?

by What are the main methods of valuation of shares?

¢! How the super profit is calculated?

d)  What are the methods of computing purchase consideration?
vl State two methods of accounting for amalgamation.

1 What is liquidation of companies?

2) Name the two types of voluntary liquidation.

hr What is a wholly owned subsidiary company?

1© Calculate unrealised profit from the following:

The stock of holding company included goods worth % 10,000 purchased from the subsidiar-
company. The goods were supplied by the subsidiary company at cost plus 25%.

Give the names of 4 Schedules of Profit and Loss Account of Banking Companies.
</ What are non-performing assets?
Expand EPS and ACE.
Section B — (Marks: 3 x 5 = 15)
Answer any three of the following:

“aleulate the value of an equity share from the following information using Yield method:
Paid up value of an equity share ¥ 150

Expected rate of dividend 15%

Normal Rate of Return 10%.

"
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2
Calculate Minority Interest from the following:
Particulars X Ltd. Y Ltd.
(4 3

Share Capital (Shares of ¥ 10 each) 5,00,000 1,25,000
General Reserve on 1.4.2016 75,000 50,000
Profit & Loss A/c on 1.4.2016 (Cr.) 1,00,000 25,000
Total Profit for the year 1,25,000 62,500
Transfer to General Reserve during the year 2,00,000 1,00,000

X Ltd. acquired 7,500 shares in Y Co. Ltd. on 1.10.2016.

Compute purchase consideration, goodwill or capital reserve from the following:

Particulars A Ltd. B Ltd.
gz 4
Assets - 3,00,000 2,50,000
Liabilities 1,00,000 75,000
Share Capital (Equity Shares of ¥ 10 each) 2,00,000 1,75,000

Both the companies agreed to amalgamate their business and form a new company AB L
AB Ltd. agreed to issue 20,000 equity shares of ¥ 10 each at a premium of T 5 per share
Ltd. and 15000 equity shares of ¥ 10 each at a premium of 10% to B Ltd.

Write Schedule 1 of Balance Sheet of a Banking Company.

The Sangam Co. Ltd. went into liquidation on 31-3-2017 on which date preference divide
were in arrears for one year.

Issued Capital:

50,000 10% Preference Shares of ¥ 10 each fully paid.
25,000 Equity Shares of T 10 each fully paid
25,000 Equity Shares of ¥ 10 each, % 6 paid.

- Liquidation expenses: ¥ 15,000

Liquidator's remuneration ¥ 15,000
Assets Realised ¥ 7,80,000
Preference Shares carry preferential right as to repayment of capital and dividend.

Prepare Liquidators' Final Statement of Account.

X Co. Ltd. decided to purchase the business carried on by Abhinava Traders. For this purj
the goodwill was agreed to be valued at 3 years purchase of the average profit of the ps
vears. The profits for the previous three years are :

2014 — T 38,000, 2015 — T 43,000, 2016 — 50,000

On scrutiny of the accounts, the following facts were revealed:
1. Closing stock of 2015 was overvalued by ¥ 3,000

2. Profit of 2014 includes non-recurring income ¥ 5,000

Calculate the value of goodwill.
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Séction C - (Marks: 3 x 15 = 45)

Q. No.13 is Compulsory. Answer any two of the remaining questions.
Compute the value of goodwill on the basis of:
‘1) 4 years purchase of the simple average profit
(i) 3 years purchase of the Super Profit.
fas  Capital invested ¥ 2,50,000
‘b) Normal Rate of Return 10%.
ic) Trading Profit for the past 6 years:

2010 -% 32,000 2013 - 44,000
2011 - % 36,000 2014 - 48,000
2012 --% 40,000 2015 - 52,000

The Vuibhav Ltd. went into voluntary liquidation on 31-03-2016 on which date preference
dividend was in arrears for one year. The issued capital consists of :

1500 8% Preference Shares of ¥ 100 each fully paid
15000 Equity Shares of ¥ 10 each fully paid

30000 Equity Shares of ¥ 10 each % § paid

45000 Equity Shares of ¥ 10 each % 5 paid

The assets realised ¥ 2,25,000. Expenses of liquidation amounted to ¥ 2400, The unsecured
creditors were ¥ 67,500, The liquidator's remuneration was fixed at :

3% commission on assets realised.
2% commission on amount distributed to unsecured creditors.
The preference shareholders have priority as to repayment of capital and dividend.

Prepare Liquidator's Final Statement of Account.

. The Balance Sheets of Appu Ltd. and Deepu Ltd. as on 31-03-2017 were as follows:
| Particulars Note | Appu Ltd Deepu Ltd
’ I.  EQUITY & LIABILITIES , 3 E4

i

Shareholders Fund:

? Share Capital i 3,00,000 1,50,000

!

; Reserves and Surplus 2 1,50,000 75,000

j Current Liabilities:

Trade Payables (Creditors) - 1,20,000 15,600

L

| Total | 5,70,000 2,40,000

{(P.T.O.
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4
Particulars Note | Appu Ltd Deepu Ltd
II. ASSETS 4 3z
Sundry Assets - 4,35,000 2,40,000
Non-Current Investments 3 135000 | @ -=e--
Total 5,70,000 2,40,000
. Notes to Balance Sheet:
Appu Ltd Deepu Ltd
k4 k4
Note 1: Share Capital:
Shares of ¥ 10 each 3,00,000 1,50,000
Total 3,00,000 1,50,000
Note 2: Reserves and Surplus:
General Reserve 90,000 45,000
Profit & Loss Account 60,000 30,000
‘ Total 1,560,000 75,000
Note 3: Non-current Investments:
9,000 shares in Deepu Ltd. 1,35,000
‘ Total | 1,35,000

Appu Ltd. acquired the shares in Deepu Ltd. on 1-10-2016. There was a credit balance ©
Z 30,000 in General Reserve and % 15,000 in Profit & Loss Account of Deepu Ltd. or

1.10.2016.

Prepare Consolidated Balance Sheet.

11. From the following information relating to Sambandh Bank Ltd., prepare Profit and Los

Account for the year ending 31-03-2016 along with necessary schedules:

Interest and discount

Interest on borrowings from RBI

Interest on deposits

Income on Investment

Profit on sale of investment

Interest on balances with RBI
Commission and brokerage

Rent and taxes

Payments to and provisions for employees

4
3,45,000
22 500
97,500
30,000
15,000
15,000
1,20,000
30.000
1,05,900
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3.
4.

Advertisement

Printing and Stationery
Director's fees

Depreciation on Bank's property
Audit fees '

Postage and telegrams
Insurance

Law charges

Additional Information:

1.
2.

Make provision for income tax ¥ 12,000
Make provision for bad debts ¥ 18,000
Transfer ¥ 15,000 to general reserve

-2 Cat Co. Ltd. and Rat Co. Ltd. decide to amal

Transfer 25% of profit to statutory reserve.

4193 -D01-IVSC-R-A-18

3

9,000
22,500
18,000

6,000
12,000

3,000
12,000

7,500

gamate their business and form a new Dog. Co.

Ltd. with an authorised capital of ¥ 22,50,000 divided into shares of ¥ 10 each. Following are
the Balance Sheets as on 31-03-2016:
Particulars Note Cat Ltd. Rat Ltd.
4 4
o I. EQUITY & LIABILITIES
Shareholders Funds:
Share Capital (Shares of ¥ 10 each) - 3,00,000 5,62,500
Reserves and Surplus 1 3,71,250 {(-) 1,20,000
> Non-current liabilities
8% Debentures - - 1,50,000
Current Liabilities:
Creditors - 51,000 67,500
Total 7,22,250 6,60,000
II. ASSETS
Non-current Assets (Machinery) - 4,80,000 5,40,000
Intangible fixed assets (Goodwill) - 90,000 -~
Current Assets: Inventories - 44,250 51,750
Trade Receivables
(Debtors) - 64,000 36,750
Cash & Cash
Equivalents (Bank) - 44,000 31,500
Total | 7,22,250 6,60,000

[P.T.O.
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Note 1:
Particulars Cat Ltd. Rat Ltd.
4 4
Reserves and Surplus
Reserve Fund ' 1,08,750
Profit & Loss Account 2,62,500 |(-) 1,206,000

Total 3,71,250  |(-) 1,20,000

The following are the terms of agreement:

1 (Cat Co. Ltd. assets and liabilities are to be taken over at book values except Machinery
Goodwill and Stock which are to be valued at ¥ 4,50,000, % 1,35,000 and 4,80,00(
respectively.

9. Rat Co. Ltd. assets except cash at bank are valued at 10% less than the book value
and the liabilities are taken over at book value.

Calculate purchase consideration and prepare amalgamated balance sheet of Dog Co.Ltd
~ Apply Purchase Method.

13. Case Study: (Compulsory)

A Public Ltd. Company went into voluntary liquidation on 31-03-2017 when its liabilities wert
as follows:

4 4

Trade Creditors 10,000
Bills Payable 20,000
Capital:
10,000 Preference Shares of ¥ 10 each ¥ 7 called up : 70,000
10,000 Equity Shares of T 10 each, ¥ 9 called 90,000
Less: Calls in arrears 2,000 88,000
Calls in Advance:

On Preference Shares 24,000

On Equity Shares 4,000 28,000

The assets realised ¥ 2,00,000. Expenses on liquidation amounted to T 2,000 an¢
liquidator's remuneration is 2.5% on assets realised.

Prepare Liquidator's Final Statement of Account, stating supporting reasons for payment:
made.
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, APRIL 2018

[Revised]
INTERNATIONAL ECONOMICS

'Time : 3 Hours]

LN

o

All sub-questions should be answered continuously at one place.
All Sections should be answered in the same answer book.
Diagram should be drawn, if necessary.

Section - A

Answer any ten of the following in 2 - 3 sentences each:

a)
b)
)
d
e)
)
g
h)
i)

j)
k)
D

What is internal-trade?

Who propounded Absolute Cost advantage theory?
What are invisible items of trade?

Expand TRIMS.

Give the meaning of Foreign Exchange rate.
What is floating rate of exchange?

Name the currency of Japan, U.S.A. and U.K.
What is Economic integration?

Give the meaning of Forex Market.

What is Balance of Payments?

State any two objectives of SAARC.

What is FDI?

Section - B
Answer any three of the following:

Explain the significance of Foreign Trade.

Write a note on FIPB.

Explain the causes for disequilibrium in BOP.

Explain the merits of Fixed Exchange rate.

Discuss the objective, functions of ADB.

[Max. Marks: 80

(10 x 2 = 20)
3x5=15)
[P.T.O.
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Find out the BOT position of India from the following data:

Sl.No. Items Amount in Crores
1) Export of Wheat 10,000.00
ii) Export of Computers 5,000.00
1ii) Export of Coffee 8,000.00
iv) Export of Iron-ore 12,000.00

') Export of Spice 5,000.00
vi) Import of Gold 10,000.00
vii) Import of Petroleum 15,000.00
viii) Import of Chemicals 5,000.00

Section - C
Answer any three of the following including, Q. No. 13 which is Compulsory.

Explain and illustrate the theory of comparative cost and state its limitations. 3x15:
Discuss the merits and demerits of flexible exchange rate.

. Explain how exchange rate is determined under inconvertible currency standard and stat
criticisms.

. Examine the objective, functions and working of IMF.

. Discuss the role of foreign capital and state its recent policy measures.

. CASE STUDY:

Following are the items of Exports and Imports of India:

Si.No. Particulars Amount in Crores
i) Export of goods 50,000.00
ii) Export of Services 20,000.00
iii)  Gifts received from Japan 12,000.00
iv)  Capital Received - 18,000.00
V) Import of Goods 80,000.00
vi) Import of Services ' 7,500.00
vii)  Gifts offered to Japan 9,000.00
viii) Capital Payments 3,500.00

Questions:

a) Prepare Current Account and Capital Account BOP.
b) Differentiate Visible and Invisible items.

¢) Suggest measures to correct disequilibrium BOP.
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION, APRIL 2018
[Revised]
COMMERCIAL ARITHMETIC-II
Paper II
T.ime : 3 Hours] [Max. Marks: 80
Mathematical tables will be supplied on request.
Simple Calculator is allowed.
Section A - (Marks: 10 x 2 = 20)
I Answer any ten of the following:
° 1. What is non-cumulative preferential share?
“- 2. Differentiate between Issued Capital and Subscribed Capital.

Define Present Worth.

3

4.  What do you mean by Bill of Exchange?

5. Distinguish between Income Tax and Surcharge.
6

A man's income is Rs. 1,50,000. Find the tax payable by him at 18% if Rs. 40,000 is
exempted from tax.

7.  Define insurance.

8. What is paid-up value?

9. Divide a profit of Rs. 36,000 between A and B in the ratio of % and %.

10. What is goodwill in partnership?

11. How much investment would be required to buy Rs. 15,625 6% Stock at 64.

12. If asset of an insolvent is Rs. 3,000 and dividend is 75 paise in the rupee, find liabilities.

Section B — (Marks: 3 x 5 = 15) i

II. Answer any three of the following:

13. The Profit Sharing ratio of A and B are 3 : 2. They admit a third partner C agreeing to
give him 40% of the total profit of the firm. It was further agreed that 70% of C's share
from A's profit and the remaining from B's profit. Find the new profit sharing ratio of
A and B.

[P.T.O.
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14. A and B together can do a piece of work in 6 days. If A alone can do it in 12 days, in how
many days can B alone do it?

15. The banker discount on a certain bill is 26 times banker gain. Find the rate of discount.

16. A person pays 10% income tax on his total income and 15% on the excess of his income
. over Rs. 2,00,000. Find his total income if he altogether pays tax amounting to Rs. 21,200

17. A person insures his building for 80% of its value, the rate of insurance being 70 paise pe
Rs. 100. If the total premium is Rs. 840, find the value of the building.

18. The bankrupt owes Rs. 1,50,000 to his creditors A, B and C a sum of Rs. 20,000, Rs. 80,00
and Rs. 50,000 respectively. If his assets realize to Rs. 72,000, find the rate of divider
and amount received by A. Also how much does C lose?

Section C — (Marks: 3 x 15 = 45)
III. Answer any three of the following:

19. (a) A, B and C start business contributing Rs. 50,000, Rs. 45,000 and Rs. 65,000 as capi
respectively. After 6 months A doubles his capital, whereas after 9 months B trip
his capital. If the total profit at the end of the year is Rs. 83,000, find the share
profit of each partner. 8 Ma

(b) A, B and C enter into partnership with capitals of Rs 75,000, Rs. 60,000 and Rs. 45.
respectively. The partnership agreement provides 5% interest on capitals, an anr
salary of Rs. 15,000 to A and an expenditure allowance of Rs. 3,000 to C, all pay
out of profit. Find the total sum received by each partner if the total profit amo
to Rs. 60,000. 7M

20. (a) Mr X holds Rs. 30,000 partly in the 3 per cent at 90 and partly in the 5 per ce:
120. He sells both kinds of stock at par, and realizes the amount he invested.

his investment in each. 8N

(b) The ordinary share capital of a company is twice the preferential capital and four
debenture issue. Preferential share carries 7% dividend and debenture of bea:
interest. When the total profit amounted to Rs. 40,000, ordinary shareholder rec
5% dividend, find the amount of each kind of shares. 71




21.

22.

23.

24.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

3 4202—D09—IVSC—R—A—18

If a bankrupt pays 90 paise on % of his debts and 80 paise on the rest, he has Rs. 150
too little. If he pays 80 paise on % of his debts and 90 paise on the rest, he could have
Rs. 150 left. Find his assets and liabilities. 8 Marks

A bankrupt's assets equal to Rs. 9,000. The dividend is reduced from 90 paise to
75 paise by the admission of preferential claim. What is the amount of preferential

7 Marks

If the difference between Banker's discount and true discount on a certain sum due
in 4 months hence is Rs. 10, find the amount of bill if the rate of interest is 3% p.a.

8 Marks

A bill of Rs. 1,250 drawn on 10th May 2005 due 3 months hence was discounted in a
bank with discount of Rs. 10. If the rate of interest is 4% p.a., find the date on which
it was discounted. 7 marks

A merchant insures his property for 80% of its value and pays a premium of
Rs. 80 at the rate of 80 paise per cent. If 80% of the property is damaged to the extent
of 80% of its value, find the compensation, 8 marks

A man's income decreases by Rs. 15,000 but on account of increase in the rate of income
tax from 16% to 18%, he pays the same tax as before. Find hig present income if
Rs. 1,50,000 is exempted from tax. 7 marks

A and B can do a piece of work in 8 days. B and C can do it in 12 days and A and C
can do it in 16 days. How long will each of them take to do it separately? 8 marks

Two trains 145 metres and 155 metres long are running on parallel rails at the rate
of 35 Kms and 25 Kms per hour respectively. In what time, will they pass each other
if they are running in opposite direction. 7 marks
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FOURTH SEMESTER B.Com. DEGREE EXAMINATION , APRIL 2018
[Revised]
BUSINESS STATISTICS - I1

[ime : 3 Hours] [Max. Marks: 80

Graph papers and Mathematical tables are supplied on request.
. Simple calculators are allowed.

Section A - (Marks: 10 x 2 = 20)

Answer any ten of the following:

1.

© X N ok wN

10.
11.
12.

Write the implication of r = 1 and r = —1 where 'r' is the coefficient of correlation, in case
of Scatter diagram.

Give the formula for Spearmen's rank correlation coefficient.
State the relation between correlation and regression coefficients.
Write any two components of time series.

Write any two uses of time series.

Name the two line of regressions.

Define percentage price relative.

Define Time Reversal Test.

What is Sampling?

Distinguish between Sample Survey and Sampling.

Define Probability of an event 'A'.

A die is rolled. What is the probability that the face number 5 turns up?

Section B — Marks: 3 x 5 = 15)

Answer any three of the following:

13.

14.

You are given that

n=38, ¥ =30, Yy =40, Exz = 215, Eyz = 400 and Yxy = 250, then find correlation

- coefficient by Karl Pearsons method.

Using the following information, estimate Y if X = 50:
X Y
AM 40 80
' r = 0.60
°P 2 ° [P.T.O.




15.

16.

17.

18.

19.

20.

2 4201 -D08 -IVSC-R-A-18

Obtain 5 yearly moving averages for the following data:

Year 2006 | 2007 | 2008 | 2009 | 2010 2011 | 2012 | 2013 | 2014 2015
Sales 47 53 50 56 60 68 61 65 70 75
Construct cost of living index number to the following data:
Group : Food House rent Cloth Fuel Misc
Group Index: : 122 140 112 116 106
Weight : 30 15 20 10 25
Explain Stratified random sampling, with merits.
From a bag containing 10 white 6 red 4 black balls, a ball is drawn at random. What is the
probability of getting (i) red (i) black (iii) white ball.
Section C — (Marks: 3 x 15 = 45)

Answer any three of the following of which case study the Q.No.24 is Compulsory.
Income and Expenditure of a middle class family for a day are as given below:
Income : 45 40 35 25 30 50 60 55
Expenditure : 18 15 10 10 15 30 45 40
Compute Karl Pearson'sCoefﬁci_ent of Correlation.
Calculate (i) Laspeyre's (i) Paasche's (iii) Marshal-Edgeworth (iv) Durbish Bowley's an

(v) Fishers Price index numbers using the following data:

Commodities Base Year Current Year

Price | Quantity | Price Quantity
6 50 10 60

2 100 3 120

10 30 12 20
12 25 18 20

A

B

C 4 60 6 80
D

E
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21. For the following time series data:

Year 2007 2008 2009 2010 2011
Output ,
(in '000) | 88 94 85 91 98

(i) °Fit a straight line trend. Calculate trend values.
(ii) Estimate the output for the years 2013 and 2015.
(iii) What is yearly and monthly increase in the outputs?

(iv) independent events, each with one example.
(b) State addition theorem for two events when (i) events are mutually exclusively
(ii) events are not mutually exclusive.

4. CASE STUDY

In a beauty contest, 10 ladies are ranked by three judges as follows:

Lady : A B C D E F G H I
Judge I : 4 7 2 1 5 10 9 6 3
Judge II : 6 5 1 2 9 10 3 7 4
Judge II1 : 6 8 2 1 5 9 10 3 4

Which two of the three Judges have closer taste of beauty?
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FOURTH SEMESTER B.Cor. DEGREE EXAMINATION, APRIL 2018

[Revised]
LAW AND PRACTICE OF BANKING
Time : 3 Hours] [Max. Marks : 80
. Answers supported by case laws and sections carry due weightage.
Question No. 18 (Case study) is Compulsory.
Section - A
1. Answer any ten of the following: (10 x 2 = 20)

a)  What is Banking?

b)  What do you mean by wrongful dishonour of cheque?
¢/ What is promissory note?

d)  What do you mean by obliteration of crossing?
e)  Who can endorse the cheque?

f+ What is order nisi?

g Expand RTGS and NEFT.

h'  Who is Garnishee?

1) What is particular lien?

J) What is hypothecation?

k) What is online bankihg?

) What is Debit Card?

Section - B

Answer any three of the following.
2. "Banker is dignified debtor". Explain. (B x5=15)
. Explain the features of General crossing and special crossing.
. Distinguish between cheque and Bill of Exchange.
. What are the principles of sound lending?
. Explain in brief various modes of taking security.

Explain the advantages of electronic banking.
[P.T.O.




10.
11.

12.
13.
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Section - C
Question No. 13 Case Study is Compulsorr..
Answer any two of the remaining.

Explain the general relationship between banker and customer. 3 x 15 = 45)

What Particulars of customers account, a banker must not disclose” Woez 3 the disclosure
justified?

What is endorsement? Explain the types of endorsement with examp.2=.

Who is paying banker? What are the precautions to be taken by tme tanser while making
payment of Customer's Cheque?

What is Mortgage? Explain various types of mortgage.

Case study:

As a banker, how do you deal with the following? Give reasons.

a)
b)
c)

d)
e)

A cheque dated 28-03-2018 is presented for payment on 20-03-201>.
A Mutilated cheque of Rs. 5000 is presented for payment.

A cheque bearing Rs. 5500 in figures and Rupees five thousand in words is presented for
payment.

A crossed cheque presented for payment on the counter of the bank.

A cheque dated 28-12-2017 is presented for payment on 30-03-2018.
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